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PLEASE READ:

Dear Mathematical Literacy Grade 12 learner.

Mathematical Literacy is a subject that will help you
“to identify and understand the role that Mathematics
play in the world, to make well-founded judgements
and to use and engage with Mathematics in ways that
meet the needs of your life as a constructive, concerned
and reflective citizen” (OECD,1999).

Below are the main concepts and content that you need
to study and practice:

1. REQUIRED RESOURCES

® A good textbook, workbooks & glossary of
words. Study Guides
A calculator, ruler and pencil.

® A collection of examination question papers and
memaos from previous years.

2. CONTENT CHECKLIST
Use this checklist to ensure that you have covered
the content in full:

Measurement &Measurement units 1

@® Convert units of measurement: between
different systems (use conversion tables) and
between different scales.

® Estimate, measure and calculate: length and
distance, perimeter of polygons and circles, time

Measurement &Measurement units 2

® Estimate, measure & calculate: area of
polygons; volume of right prisms and right
circular cylinders; surface area of right prisms;
surface area of right circular cylinders.

® Adjust solutions for measurement and
rounding-off errors.

~ Scale drawings of plans: calculate values
according to scale; build and interpret models.

Maps and grids

Find the following on a map drawn to scale:
Location, relative position. Compass direction
Real ground distance between any two
consecutive points using a given scale.
Latitude and longitude in
positioning systems.

global

Dealing with formulae,

tables and graphs

relationships:

® Write formulae for relationships given on a table
in words.

@® Represent relationships on a table using the
given formula.

@ Represent relationships given on tables or
formulae graphically

Dealing with graphs, tables and formulae

@ Find output values for the given input values

(from a table/formula/graph) and vice versa.

@ Predict future output values for given input
values (using a table/formula/graph) and
vice versa.

@ Identify trends from tables/graphs.
® Compare trends from two or more graphs/
tables.

Design & planning problems
@ General problem solving.

Data Handling

@® Data collection methods (interviews,
questionnaires. etc.)

@® Populations and samples

@® Summarising data (measures of central
tendency and spread)

® Mean, median, mode, range, quartiles,

percentiles (interpretation)

® Data organisation and display

@® Tables, tallies, pie charts, single and
compound bar graphs, histograms, line and
broken - line graphs

®  Use and misuse of statistics
@® Sample representatively and bias.
@® Misleading graphs.

Probability
® Meaning of probability, probability scale.
@® Ways of expressing probability.
Simple contingency tables.
@® Tree diagrams.

Financial literacy
® Personal and business finance:
budgets;
@ income and expenditure;
® profit and loss.

Effects of:
@® taxation,
® inflation,
@ changing interest rates,
@ currency fluctuations.

Interpret calculated answers in terms of contexts
used.

ENJOY MATHEMATICAL LITERACY... BECAUSE YOU CAN!
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QUESTION 1 QUESTIONS

NOV 2017
QUESTION 1|

1.2

Deefinitions of some mathematical concepts are listed in TABLE 1 below.

TABLE 1: DEFINITIONS OF SOME MATHEMATICAL CONCEFPTS

LETTER DEFINITIONS
A Middle value in an ordered data sel
B Difference between the maximum and minimum values in a data set

C Distance from the centre of a circle to the circumfercnce of the
circle

¥} Positive difference between the income and the expenditure
arnounis

E | Maximum distance between two points on the circurnference of a
circle

F Amount received rom the sale of goods or services

;i Sum of the data values divided by the number of data values

Use TABLE 1 to select the definiion for EACH of the following concepis.
MNOTE: Write down only the letter { A—() of the correct definition.

1.1.1 Profit
1.1.2 Mlean

1.1.3 Length of the radius

A gold coin shop buys and sells gold Krugerrand coins, The shop bought
g one-gunce pold coin for RI4960 at 1153 and sold it for RI1E 700
5 howrs and 30 minuies lader.,

1.2.1 Calculate the profit thut the shop made on this one-cunce gold coin,
1.2.2 Write down the exact time when the coin was sold,

1.2.3 The diameter of a ong-ounce gobd coin 15 32,8 mm. A gold com s placed in
the centre of a square box of side length 71,8 mm, as shown below.,

PHOTOGRAFH OF GOLD
COIN IN SQUARE BROX

DIAGRAM

(a) Caleulate the length of the Tedius of the coin.

(B}  Determine the shortest distance (V) betesen the edge of the coin and
the side of the square baox,

(2)
(2)
(2)

(2)
(2)

(2)

(2}
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Maomi barys a 2 £ botile of concentrated juice.

She adds water to make 14 £ of diluted juice at

a total cost of Rad 95,

She wants to serve the diluted juice in glasses.
Each glass will cottain 0,175 [ of diluted juice.

[Adapted from graphics2d co.za)

1.3.1
1.32

Calculate the cost per litre of the dilwted juice.
Determineg, in simplified form, the ratio of:

volume of concentrated juice : volume of waler

1.33

Deterrnine the exact number of glasses of diluled juice that can be served,

TABLE 2 below shows the mean moenthly rainfall (in mm) and the mean number of

rainy davs per month for two South African cilies.

TABLE 2: MEAN MONTHLY RAINFALL AND MEAN NUMBER (OF
RAINY DAYS FER MONTH FOR KIMBERLEY AND DURBAN

MEAN MONTHLY MEAN NUMBER OF
MONTH RAINFALL (mm) RAINY DAYS
DURBAMN KIMBERLEY DUKBAN KIMBERLEY
January 126 03 10 7
February 142 £1 9 7
‘March 120 28 ) 7
[ April 60 1 6 6 | &
May 19 & 4 3
June 15 7 1 ]
July 19 3 3 ]
August | 63 9 3 L
September R4 18 7 2
October 107 2T 10 4
Movember 117 g 12 5
December 93 i6 10 6

[ Boroe: www. sy weather2 com)

Use TABLE 2 above to answer the questions that follow.

1.4.1
1.4.2
1.4.3

vear for Durban.

L4.4

Durhan?

l.4.3

Arranpe the mean monthly rainfall for Durban in ascending order.
In which month docs Kimberley receive the lowest mean monthly rainfall?
Write down the modal number of rainy days for the first six months of the

In which month does Kimberley have a higher mean monthly rainfall than

During which month(z) is the mean monthly rainfall in Durban the same?

(2}

(2)
(2}

(2}
(2}

(2)
(2}

(2}
[30)
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FEB 2018
QUESTION 1

I.1

1.2

A furniture store offérs a dining=room suile for sale, It should be paid off 1n 42 equal
monthly instalments of R1 078,26 (14% VAT mcluded). No deposit 1s required for this
offer.

| Source: www.rochester.co.m]

L.1.1 Express (in years) the total repayment period for this offer, (2}
1.1.2 Determine the total repayment cost for this dining room suite. ()

1.1.3 The advertised price for this dining room suite is R29 999 (8. The store
offers 15% discount on the advertised price if the purchase is settled
immediatcly in ONE payment.

Calculate the value of the discount amount offered, (2}

The photograph and skeich below show a circular swimming pool in a portion of Annette’s
garden,

CIRCULAR SWIMMING POOL | SKETCH OF THE SWIMMING POOL IN
THE GARDEN WITH DIMENSIONS
{in metres)

10,9 471 §9.43

A 375

NOTE: The curved distance for AB iz 57,5 m.

1.2.1 Give, in simplified form, the ratio of distance AD to distance CB. {2)
1.2.2 The perimeter of ABCD is 12592 m.

Calculate the distance CI. (2)
1.2.3 Write down the length of the radius of the poal. {2)
1.2.4 Afmwilllltm:rﬁct:dﬂnngmcnunﬁ!sldthﬂﬂamﬂﬂf

R97,56 per runming metre.

Calculate the total cost of erecting the fence. (2)
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TABLE 1 helow shows the weather forecast with maximum and minimum
temperatures for three cities for 29 Apnl 2017.

TABLE 1: WEATHER FORECAST WITH MAXIMUM AND MINIMUM

TEMPERATURES OF THREE CITIES FOR 29 APRIL 2017

TEH!EFEMTURE I WEATHER FORECAST
C (Celsius)
CITY MAXIMUM | MINIMUM SUN AND % CHANCE
CLOUD OF RAIN
COVER
24 & 39
U
k¥ 26 0
B -7 ; 3
[ Adapted from AccuWeather.com]

Use TABLE 1 above to answer the questions that follow.

1.3.1
1.3.2

1.33

Identify the city with the lowest temperature.
Calculate the temperature range for City C.

A probability scale in words and as decimal fractions 15 given below,

Most Even Maost
unlikely chance Likely
| : —t— | I
o 0.2 04 05 06 0,8 L
Impossible Unlikely Likely Certain

Use the probability scale and TABLE 1 above o answer the questions that
follow.

{a) Identify the city that has NO chance of rain.

(b) Write down, in words, the chance of rain for City A,

(2)
(2)

(2)
(2)
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361 948 candidatcs wrote Mathematical Literacy Paper | in 2016, The paper had
a total of 150 marks end candidates had three hours 1o complete the paper, The graph
below shows the average percentege mark per question for this paper.

AVERAGE PERCENTAGE MARK PER QQUESTION FOR
MATHEMATICAL LITERACY FAPER 1

il
51 -
- 1= © 4 34
T 40
)
8 3
i
10
0
o Q2 03 o4 s

Crueslinns

[Sowrce: 2018 NSC Exanminarion DNagnostic Reporr)

Use the information and the graph above to answer the questions that follow,

1.4.1 Mame the tvpe of graph used to represent the data. (2)
1.4.2 Express the number of candidates who wrote this paper in words. {2)
1.43 ldentify the question in which the candidates obiained the second lowest

gverage percentage mark. {2)
1.44 Determine (in minutes) the average time per mark required for this paper. ﬁ;,lll

7|Page



NOV 2018
QUESTION 1
1.1 Happy Life Superstore advertised the specials below for the annual Black Friday
in 2017.
2 { bottles
Coke, Sprite and Fanta
3004 OFF
E1l each
Sunlight Liquifruit Weethix
35%% OFF 40% OFF Save R20
R18 R22 each 44
Jacobs Airborne hth Graviscon
Save R35 Save R25 Save R70 Save R30
RA5 each B30 per pack B250 R43
[Searres: www.checkereon.za)
NOTE:
« 1 E=1 000 mE
«  ALL amounis given INCLUDE the discount

EC CURRICULUM: MATHEMATICAL LITERACY BOOKLET 1 OF 2020

Study the advertisement above o answer the questions that follow.

L.LI Write down the number of day(s) on which these prices are valid.

1.1.2 Caleulate the onginal price of hth before the saving,

1.1.3 Write down the name of the product which 15 now half price.

1.1.4 Convert 750 mé 1o litres.

(2
()
()
2

1.1.5 Calculate the total price of ONE 2 {-bottle of Coca Cola and TWO
2 £-bottles of Fanta,

1.1.6 Arrange ALL the sale prices in ascending order.

{2
(2
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The picture below is a scaled drawing of a T-shint for Grade 12 leamers.

FRONT OF T-SHIRT BACK OF T-SHIRT
R e e —
A 2= Celsius ™
/ ‘ ~§ \
Keep w—= \
= | = b
‘& Calm : = A
\/1 and .* - | e
/ pass 0= : . h
Mathematical 0= i
| M=
I Literacy I | s |
| =
| | ¥ ]
Scale= 1:25
12.1 Calculate the number of letters needed to print the logo on the front of the
T-shirt. ()
1.2.2 Write down the temperature displayed on the thermometer in 'C, ()
1.2.3 Explain the meaning of the scale in the drawing above, (2}
1.24 Ml:-u.'{un: the length of the back of the T-shirt in mm, as indicated n the
drawing. (2}
The Two Oceans Marathon and the Comrades Marathon are two of the most popular
ultramarathons in the world.
TABLE 1 below shows the dates, distances and entry fees of these marathons.
TABLE 1: TWO OCEANS MARATHON V5 COMBADES MARATHON
TWO OCEANS COMBADES
Date (2017) 15 April 2017 4 June 2017
Distanee 56 km B9 km
Entry fee R520,00 R460.00
[Adapted from www capetownmagazine com and www, pews comirades, com|
Use TABLE | above o answer the questions that follow,
.31 Which race ook place first? (2)
1.3.2 Which one of the two races had the longest disiance? (2)
1.3.3 Determine the difference between the entrance fee of the Two Oceans
Marathon and the entrance fee of the Comrades Marathon, (2}

9|Page



1.4

EC CURRICULUM: MATHEMATICAL LITERACY BOOKLET 1 OF 2020

The Comrades Marathon Association (CMA) has issued its medical statistics for the
race held on Sunday 4 June 2017,

Start of the race: 05:30

End of the race:  17:30

TABLE 2 shows the medical statistics on race day.

TABLE 2: MEDICAL STATISTICS

Athletes starting the race 17031
| Athletes finishing the race 13852
Athletes treated in the medical tent 400
Hospital-treated athletes 90
Hospital-sdmitted athletes 4

[Adapted from hup /ey, nermerswaorld.co.za
Use TABLE 2 above to answer the questions that follow.

1.4.1 Write down the maximum time given to the athletes to complete the
Comrades Marathon. (2)
1.4.2 State if the medical statistics data is discrete or continuous, (2]
1.4.3 Write down the ratio of athletes starting the race io the athletes finishing
the rice. (2}

132]
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NOV 2019
QUESTION 1

1.1

TABLE 1 below.

TABLE 1: SOCTAL GRANTS FOR 2019-2020

[n 201920 the South African government increased the social grants as indicated in

. TYPES ~ MARCH 2019 MARCH 2020
Pension allowances younger than 75 CR1695 R1 780
Pension allowances older than 75 Rl 715 R1 800
War veleran allowances ~ R1715 ~ RI800
'Digahﬁ:.f allowances ) i’i:l _EEE' Kl T80
Foster care allowances  Road 1 Riopo
Care dependent allowances RI 633 R1 T80
Child support allowances R405 R425

[Adapted from W Ineasary.gov. a'Ragp ort)

Use TABLE 1 above to answer the questions thal follow,

1.1.1  Isthe type of data in TABLE | numerical data or categonical data? {2)
1.1.2  Ideniify the modal allowance amount for March 2020, (2)
1.1.3  Arrange the social gramts for March 2019 in descending order of value. (2)
1.1.4  Determine {in rand) the increase in the disability allowances for March 2020, (2)
1.1.5  Write down the type(s) of allowances which represents the highest amount in
March 2020. 2]
Maomi owns a spaza ghop in Gugulethu She buys her stock from a wholesaler in
Cape Town. Below i3 some of the stock that she buys weekly,
E.J — —
= = =
ﬁ £ !-.
2.5 kg Hullets 400 g Koo 2 kg Tastic
white sugar Hot and Spicy Chakalaka | 1onp grain parboiled rice
Cost price: R32,99 Cost price: R10,99 Cost price: R22 99
Total selling price: Total selling price: Total selling price:
Rd2,90 R14,30 R29.20
[ Axdmpbed From ww, Inmsssspesials go.2a]
Use the information above to answer the questions that follow.
1.2.1 Convert 400 g 1o k. (2)
1.2.2  Determine the profit she will make if she sells a can of Hot and Spicy
Chakalaka. (3)
.23 She buys a 2,5 kg pack of white sugar and repacks the sugar into
250 g packets.
Determine how many packets she will be able 1w get from ONE pack of
2.5 kg sugar. (3)
.24  The 2 kg Tastic rice is divided into ® smaller packets,
Calculate the selling price of ONE small packer. i2)
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1.3 Candidates sat for the National Senior Certificate examinations in November 2018,
The box-and-whisker plot below shows the five-number summary of the average pass
percentages for Mathematical Literacy.

aTrrr¥rrryryryr s r Ty rTrrrTr ey T T T T T orT T T T n1r 1T 15 1T e nrn 1 r1rrn i

4

[Adapted from NSC 208 School Subject Repord]
Llse the box-and-whisker plod above 1o answer the questions that follow.
1.3.1 Write down the pass percentage that represents the following:
{a)} The median (2)
(b} Quartile 3 (2
.32 Determine the difference between the highest and the lowest pass percentage, (2

1.4 Kimberley experienced heavy thundershowers on 11 March 2019, Celeste, a resident
of Kimberley, studied the weather forecast below relating to the following day to
determine whether it was necessary to take an umbrella to work,

HOURLY WEATHER FORECAST FOR KIMBERLEY - 12/03/2019

JREL|] 1401y 15:-010 JEEL ] 1700
a7 el Nal Nafl RS
280 9C 298C 1870 i e
N WNNRY NNW Lo W
o 0% o 20% 0% $i17% o gdn
[Adapt=d from wamw minbod,coza

Use the information above to answer the questions that follow.

1.4.1 At what time of the day is the temperature expected to be 28 °C7? (2}
1.4.2 Defermine the probability that 10 wall rain when Celeste leaves work
at 2:30 p.m, (2)
[30]
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FINANCE

NOV 2017
QUESTION 2

2.1 TABLE 3 below shows the bus fare (in mnd-]l, including 14% VAT, for a single trip,

TABLE 3: BUS FARE TN RAND FOR A SINGLE TRIP

=
5
[—:
= e =
2l 2| 5| | €| E
E|E|E| 2| 2| &| &
= 2 = 2
g g | £ g & E ]
- 2 w = - = =
Fort Elizabeth 305 320 395 410 435 515
Lrahamstown 305 305 385 410 435 515
King William's Town 30 305 350 410 435 465
Queenstown 395 3Rs 350 365 410 455
Aliwal North 414 410 410 365 410 435
Bloemfoniein 433 435 435 410 410 335
Welliom 515 515 465 455 435 135

[ Source: wiw gris hound co.z8) |

Usze TABLE 3 above 1o answer the questions that follow,

2.1.1 Wrie down the SECOND highest bus fare for a single trip between

fwo cities. 2}
212 Between which two cities 1s the single bus fare R350,007 (2)

2.13 A person travels from Port Elizabeth to Bloemfontein via another city,
City X, and uses two different buses. The total cost for this one-way trip

i 755,

{a) Calculate the cost from Port Elizabeth to City X. (2}

{b)  Henee, identify City X. {2
214 Disterming the cost, excluding 14% VAT, of a single bus fare of R265,00, (3

2.1.5 Lindiwe travels from Quesnstown to Bloemloniein and back once a month,

Calculate her total retum travelling cost for ONE vear. 4]
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ANNEXURE A shows an sdeapted municipal account statement (property rates and
services account) of Mr Fortune.

LUse ANNEXURE A 1o answer the questions that follow,

2.2.1
222
223
224
2.2.5

2.2.6

2.27

228
229

Write down the valuation date {month and year) of Mr Fortune's property.
MWame the municipal services that Mr Fortune is charged for.

Determine the end date of the reading period of this statement,

Show how the daily average water consumption of 0,522 kE was caleulated.
MName and explain which service on this statement is a variable expense.
Determine the missing value:

(8] A

() B

Calculate  the monthly sewerage male (excluding 14% VAT) per
square metre for this property.

Write down the unpaid amount for December 2016.
Mr Fortune paid R1 800 on 15 January 2017.

Wame the type of rounding he used to obtain this amount.

Rajesh exchanged a gift of £360,00 to South African rand at a bank.

The exchange rate was R1,08 = £0,05773.

The bank charged 1,95% commission on the amount exchanged.

Rajesh then invested BS5 000 of his gift in & fixed deposit account for 11 vears at
o compound interest rate of 6,3%, per annum.

[Adapied from hip=twww secom and www. fnb.co.za)

2.3.1
2.3.2
233

Calculate (in pounds) the amouni of commission Rajesh paid.
Convert £360,00 10 rand,

Calculate (without the use of a formula) the value of the fixed deposit at the
end of 1§ vears. Show ALL the steps of the caleulation.

)
(2)
(2)
(2)

E)

(2)
(2)
(2

)

(2)

(2)
(3)

(5)
146]
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FEB 2018
QUESTION 2

2.1 Hapm;u contributes a regular monthly amount from her salary towards a retLrement
annuity. Thiz amount is deducted from her salary through a stop order on the 15 day
of each month,

Below is 8 summary of the statement of her retirement annuity, as on 10 May 2017,

Policy number 007541
Maturity date 1 November 2023
| Monthly contribution N TR740.22
Pavment frequency ~ Monthly )
| Current death value RIS EI7.05
Retirement value — Lower intlation rate K536 523,25
Retirement valwe — Higher inflation rate RO40 465,89

[Source; www.my perifolio, coza

Use the information above 1o answer the questions that follow,

2.1.1 Define the concept siop order. 2)
2.1.2 Calculate the difference between the TWO retirement valwes. {2)
2.1.3 Determine the number of monthly contributions that stull need to be paid

by Mapotjo before the policy matures. 4)
214 Determine the total value of the contributions over five years if her

monthly contnbution remains the same, (3}
2.1.5 Fill in the missing word(s) to make the following statemment TRUE.

An annual increase n the monthly contribution would result in ...

maturity vahie. (2}
2.1.6 Show that if her monthly contribution increased by 8,5%, then the new

monthly deduction from her salary would be R803,14. (2}
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Zoom Car Wash employs a supervisor, eight general cleaners and a machine operator.
The cleaners work for seven days a week, where Monday to Saturday 1s regarded as

normal working hours.

TABLE 2 below shows the hourly wage rate for EACH of the worker groups
for 2016 and 2017.

TARLE I: ZOOM CAR WASH NORMAL HOURLY WAGE RATE
(IN RAND PER HOUR) FOR 2016 AND 2017

WORKER GROUP 2016 2017
Supervisor A 21.93
Greneral cleaners ~ 1ad0 17,76
Machine operator 17,50 19,39
[Adapted from My wags on28)
NOTE:

¢«  Normal working hours: 08230 to 17:30
s Overtime is paid at time and a third of the normal hourly rate.
The Sunday wage rate iz 150% of the normal hourly rate,

Use TABLE 2 above to answer the questions that follow.

2.2.1 Calculate the 2017 overtime hourly rate for a general cleaner.

222 Determine the total wage a machine operator would eam for working only
THREE Sundays,

223 All the workers received a wage increase atl the beginning of 2017

{a) Show, by calculation, that the wage increase was B,3%.
(b} Calculate tive missing value A,

224 A general cleaner worked normal working hours for a full week,
Calculaie his total weekly wage.

TABLE 3 below shows the record of the vehicles washed on a particular day.

TABLE 3: RECORD OF VEHICLES WASHED ON A PARTICULAR DAY

CATEGORY NUMBER COST PER VEHICLE
Bakkics ) BT
Cars | 35 ~_Es
Mimihus 4 RT3

Calculate the total income received for the vehicles washed on this particular day.

)

(3)

(2)
3}

(3)

(4)
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The supervisor at Zoom Car Wash has to report for duty 30 minutes earlier than the
normal starting time, from Monday 10 Saturday but leaves work at the same time as
the other workers. He receives a monthly salary, works every Sunday and is paid
overtime,

TABLE 4 below shows a monthly salary slip (some data omitted) for the supervisor.

TABLE 4: MONTHLY SALARY SLIP FOR THE SUPERVISOR

SALARY SLIP
Marme of employer Zoom Car Wash
Address 12 Stateway
) ) Welkom, 9460
Name of employee M Neubuka
ID No.: 890106 5387 000 Employes No.: 124567
Position Supervisor

“Payment period: | November 2017 10 30 November 2017

RATE TOTAL HOURS | AMOUNT
(hrs * days = weeks) IN

RAND
Normal hours worked 21,93 .. | B
Sunday hours (1,5 normal rate) 32,90 EEY! 1 184,40
Overtime hours worked' . B EETEY 150,88
{14 of normal rate)
TOTAL Gross Salary 6 272,16

UIF (1% of gross salary)
Netsalary I | 620944 |

[Seurce: wynw. zoomhandearnash, com|
NOTE: Employer and employes each contiibute a monthly amount of 1% of the
employvee's gross salary for UIF.

Use TABLE 4 above to answer the questions that follow,
241 Explain the term employer.
242 State ONE benefit of coniributing towards the UTF,
243 Caleulate:
{a) Thevalueof B

by The total UTF armount that muwst be pm':l on behalf of M Mcoubuka
to the Department of Labour

(2)

(2)

(3)

(3)
[44]
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NOV 2018
QUESTION 2

21 ANNEXURE A shows the student fecs statement for Tamryn Abrahams, a second-
year Architecture student at the University of Cape Town (UCT).

Uze ANNEXTURE A to answer the questions that follow.

2.1.1 Explain the meanitig of the term interest with reference to the student fees

statement. (2)
21.2 Write down the balance (excluding interest) that was brought forward on

the last day of the previous year. ()
213 Calculate the monthly interest rafe that was used on the overdue fees for the

previous year. (3)
214 Wnte down the code and the name of the module/course that is the most

Expensive. (2}
215 Show how the amount of R6 317,70 was calculated. (2}
216 Calculate the total amount debited to this account for the courses studied in

the 2017 academic year including interesi on overdue fees in 2017, i3
1.7 State the payment method wsed 1o transfer money into this account. (2)

218 A family friend paid the balance of R40 386,60 on condition that the
amount could be paid back in equal monthly instalments, interest free.

Show how the monthly instalment of RE 077 32 was calculated if the first

payment was due on 1 Movember 2017 and the last payment was due on
1 March 2018, ()
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[ The graph below shows the cffect of inflation from 2015 going back 30 years,

YALUE OF A TROLLEY COSTING R1 0040 TN 2015

RIOL00
RE57,00 I
2005 2010

Below are certain South African items and their prices for the years 1970 and 2015,

BL1 00,00

13

PRICE IN 1970 PRICE IN 2015
Spur burger @ R, 30 R62.50
Cheddamelt steak g RB050 R104,90
Ricoffy 750 g 4%3' R0,25 R75,00
Mestlé condensed milk s RO,10 RI19,00

[Sewrce: www, inflation.e

Use the information above to answer the questions that follow,
22.1 Explain the term ixfTarion within the given context,
222 Write down the price of a Spur burger in 1970,

(2}
(2}

223 Calculate by how much the cost, in ramd, of a trolley had increased from

2000 to 2005,

(3)

224 Calculate the percentage increase of Ricofy from 1970 to 2015.

You may use the following formula:

Percentage increase =

mew amount — uriﬂnnl Amount
original amount

= 100 %
{3)

225 A cheddamelt steak was sold for R104,90 at a percentage profit of 17,5%.

Determine the cost price.

(2)
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TAEBLE 3 below shows the national budget and education budget of South Africa for
20078,
TARLE 3 NATIONAL BUDGET AND EDIUCATION BUDGET OF
SOUTH AFRICA FOR 2017/2018
NATIONAL BUDGET OF EDNUCATION BUDGET OF
SOUTH AFRICA (IN RAND) SOUTH AFRICA (IN RAND)
Economic affairs and 241,6 billion | Basic education 216, 7 killios
riculiure
Defence and public 194,7 hllion | University subsidies 31,6 billion
safety
Health 187,53 hillion | Education 15,8 hilliom
_____ _ | administration L _
General admin 70,7 bilion | Skills development levy | 21,1 billion
institutions
Local development and | 195,58 billion | National student 15,3 billion
infrastructure finamcial aid scheme
(MEFAS) ]
[eht service costs 1624 hillion | Technical and 7.5 killion
vocational education and
training ]
Social protection 180,0 billion | Other 12,5 billion
Education 320.5 hillion |
[Adapted from www.graphics24 com]

Use TABLE 3 above to answer the questions that follow.

23.1 Which of the amounts below represents the economic affairs and
agriculture budgets?

A 24 160 000

B 241 600 000 000

C o 241 600 000

[ 24 160 000 0040 D00 (2)

232 Explain the term hudger within the context above, (2)

233 Write down the item which receives the third most money from the
education budget. (2)

234 Calculate the percentage of the total education budget that is allocated to
the NSFAS, (3)

2335 University subsidies comprizse about 9,86% of the total education budget.
Estimate the combined budget, as a percentage, for education
edministration and the NSFAS. {2)

[41]
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NOV 2019
QUESTION 2

2.1 ANNEXURE A shows an extract from Mr Daniels' monthly municipal statement
mncluding the residential water and sewer tariff tables.

UUse the information in ANNEXURE A and answer the questions that follow,

2.1.1 Wnite down the market value in words. (2}
212 Calculate the VAT amount for the sewer monthly charge on a stand larper

than 2 000 m’. (2
2.1.3 Write down the unit of measurement that was used for the meter readings. 2
214 Determine the value of A. (2}

2.1.5 Use the stepped residential water tariff table to calculate the value of B, the
total amount for water usage. (4)
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Josh owns a specially designed refuse removal truck. He hires out this truck at a daily
rate of B3 000, excluding fuel. A group of fnends decided to use the truck for the day

1o carry their refuse to the nearby dumping ground.

The graph below indicates the amount each person will pay depending on the number

of friends.

Cost per person i rand

3200 4
3000

2800 +——
2 600

E#IIFI

izm:

2000 -
1 800 +

1600 -

1400 +

1200 <

1000 +—

HII]II]J

B00

400

200

4 ] H
Number of persons

221

222

2213

State the rype of proportion represented in the praph above.

Write down the number of friends in the group if each paid RSO0,

Use the graph above o answer the questions that follow.

(2}
(2}

Calculate the amount each person will pay if 7 friends hired the truck. (3}
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224

Josh saved R300,00 each moath since earning his first profit. He has now

accumulated an amount of BT 000,04,

TABLE 2 below shows the simple interest rates that would be camed over

fixed time periods for amounts ranging from R10 $00,00 to R99 999 (4,

TAHBLE 2: SIMPLE INTEREST RATES FOR FTXED TIME PERIODS

TERM (MONTHS) | K10 (d)-R24 999 K25 D00-R99 999
INTEREST RATE INTEREST RATE
PER YEAR PER YEAR
I 7,12% 7.23%
B P I Y v _ B.08%
18 T.87% 2.41%
24 8,08  E5Tw |
16 8.30% 8.84%
4% £,46% 9,00% ]

[Adapied from www capitechank .oz

Use TABLE 2 above to answer the questions that follow,

(a) Determine (in mornths) how long he took to save 17 000,00,

(2)

(k) Write down the interest rate he will get if he invests his money

for 3 years.

i)

(€} Determine (rounded to the nearest R100) the amount of interesi
Josh will earn if he invests his accumulated savings for 3 vears.

(3)

(d) Sifiso wants to invest R24 000,00 for 48 months instead of 12 months.

Calculate the difference in percentage points for the interest rate.

{2)

(£} 'Write down the minimum number of years and months & person must
invest R25 000,00 to eamn an interest rate of §.41%.

(3)
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The government receives income from various sources, like tax and loans. This
income is then distributed to the different sectors.
TABLE 3 below shows the source of the income and the expenditure for the
2019720 tax vear,
TABLE 3: GOVERNMENT SOURCES OF INCOME AND EXPENDITURE
FOR 200920
INCOME EXFENDITURE
SOURCE AMOUNT SECTOR AMOMINT
(in billion rand} (in billion rand)
. Hocial
- M | Developmen: .
Loans 2427 Basic Education 2624
(rher income 180,3 Health 26
Non-tax income 31,5 Peace and Safety | 2110
Economic
Development _EEE"E -
Community
N | Development -
Debt Service Cost | 2022
Further Education 112.7
and Traimng i
Crher ]
TOTAL A 1 823,71
| Adapted from M BT RS E|EEE':'”|
Usze TABLE 3 above to answer the questions that follow,
23.1 Write the amount received from loans as a number in millions. (2
232 Calculate the missing value A (2}
233 Calculate the missing value B, Show ALL calculations, 4}
2.34 Determine the amount allocated for Communily Development as a
percentage of the wotal expenditure, (3}
[42]
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MEASUREMENT

NOV 2017
QUESTION 3

31

Happy Life High School makes table centrepicces, cach consisting of four balloons in

a vase filled with sand, for the 2017 Ball.

The school expects 240 people at the ball, Each table will accommodate a maximum
of 8 people and ONE centrepiece will be placed on each table.

The diagrams below show the two types of centrepieces that will be used.

RECTANGULAR VASE

Dimensions of rectangular vase;

Length = 10 cm Diameter = 12 ¢m
Width = 6 cm Height =28cm
Height = 28 cm

lo ,O
vase
f sand

@ )

CYLINDRICAL VASE

Dimvensions of cvlindrical vase:

[Adapced from goaple com]

Usze the information above to answer the questions that follow.,

311 Calculate the minimurm number of balloons required for all the centrepieces, (2)

312 Each vase will have a decorative ribbon around it. The ribbon will overlap

1em

Calculate the mimimum length of decorative rbbon needed to decorate

ONE rectangular vase.

¥ ou may use the following formula:

Length of decorative ribbon (in em) = 2 = (length + width) + 1 ()

3.1.3 Caleulate (in cm”) the volume of the cylindrical vase,

You may use the following formula:

Volume of a eylinder = * (radius)’ * height, using = =3,142 (3)

314 The volume of the rectangular vese is 1 680 cm’.

o 45% of the vase will be filled with sand,
o The mass of 1 em” of sand is 1,53 g

Calenlate (in kg, rounded off to TWO decimal places) the mass of sand

required for ONE rectangular vase.

(4)
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"The ladics attending the ball will each receive a triangular-shaped gift box. 1he Dox 15
made up of threc identical rcctangular faces and two identical triangular faces, as
shown in the diagrams below. Each hox will be covered in gold fioil.

Met of triangular-shaped gift box Picture of triangular-shaped gift box

triangular (aces

h=3464 cm
w ' W =4 cm
I |
: /=6cm
.ﬁ--i-l:IIIE rectangular faces

Dimensions of rectangular faces:

¢ Length(=6cm
«  Width {w)=4 cm

Diitnensions of thangular faces:

s Base(h) = 4cm

s Height (i) = 3,464 em

321 Caleulate (in cm’} the area of ONE triangular face of the gift box.
¥ou may use the following formula:
Area of a triangle = | = base * height

322 Hence, determine the tofal surface arca (in em’) of the box.
Y ou may use the following formula:

Total surface aren of o iriangular prism
=1 x (area of trinngular face) + 3 = length = width

3.2.3 Tt takes 30 minnies to cover 20 boxes with foil,

Calculate (in seconds) the average time it will ke to cover ONE hox
with foil.

(3}

(4)

{2
[21]
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FEB 2018
QUESTION 3

3l A nurse from Port Allen Clinic conducts road shows to demonstrate the use of growth
charis 1o parenis. She uses a weighi-for-age charl for boys as on ANNEXURE A,
which shows the recorded measurements of a boy for three visis.

Usec ANNEXURE A to answer the questions that follow.

3.1 Identify the age group represented on this chart. (2)
3.1.2 Give the boy's weight at his first visit. (2
313 Determine the boy's age (in months) during a visit when he weighed a

litthe bess than 9 kg. (2)

314 The boy's first visit was in May.
Determine the month in which the third visit took place. 2]

315 During the fourth visit, the boy w;ghed 11,2 kg and his body mass index
(BMI) was calculated as 19,5 kg'm*,

Calculate the boy's comesponding height (in metres) rounded off
to THREE decimal places.

g = eight (in kg)
(height in m)’ (4)

You may use the following formula:

32 The nurse uses a sedan vehicle to travel. The fuel consumption of her vehicle is
7,6 litres per 100 km travelling at an average speed.

[Admied from maatamabilio,irfo]

121 Calculate (10 the nearest km) the distance her vehicle can travel using
55 litres of petrol. (3)

322 The nurse spends 1 hour and 45 minutes on a particular day driving
between two workstations that are 18% km aparl. Defermine the average
speed of the vehicle.

distance (3)

You may use the following formula: Average speed = pe
me
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The dimensions (in centimetres) of a nurse's rectangular medicine box are given below,

RECTANGULAR DIMENSIONS OF THE
MEDICINE BOX MEDICINE BOX
WITHOUT THE HANDLE

W=17,78 cm

H=4232 em

L=5334cem

L = length
W = width
H = height

NOTE:

[Source: Amazon.couk] | | Litre= 1 000 e’

3.3.1 Calculate the volume (to the nearest litre) of ONE medicine box
excluding the handle.

You may use the following formula:
Volume = length * width x height %)

332 The medicine box contains FOUR identical smaller boxes. EACH small
box contains four different types of pills in cylindrical containers which
are labelled A, B, K and U, as shown below,

[Source: Foryetting Tl:e Pill.com|

Determine (as a decimal fraction) the probability of randomly selecting a
type U container from the medicine box. (3)
125]
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NOV 2018
QUESTION 3

i1

32

Liam and Amy are planning their wedding. Amy wanis a four-layer red velvet
widding cake. She must still decide between a cylindrical or rectangular cake as
shown on ANNEXLURE B,

Use ANNEXURE B to answer the questions thai follow,
311 Determine the 1odal beight of the evlindrical cake in millimetres.
3.1.2  The base (botiom) layer of the cvlindrical cake has a radius of 14 em.
{a) Dwetermine the diameter of the base layer in cm.
ib) Calculate the volume {in cm’) of the hase layer,
You may use the following formula:
Volume of a cvlinder =m x {ra-:ljun}1 * height, and using =3, 142
1.3 Define the term perimeter.

3.1.4  Calculate the area (in cm”) of the base of the pan needed to bake the fop layer
of the rectangular cake.

You may use the following formula:

Area = length = width

Aunt Abby wall bake the wedding cake. She will be using a recipe from a recipe book
published in England.

NOTE:
& 1 kg=225 pounds
o 1 mt flour = 0,7 g flour

32,1 Aunt Abby needs 3 and a half pounds of butter.

Determine the mass of butier, in kilogram.
322  Aunt Abby only has a kitchen scale available.

If aunt Abby needs 625 mf of flour, determine the mass of the flour m grams.
3123 The cake must be baked at 356 °F.

Dietermine to what degree Celsius the oven should be turned.

You may wse the following formula:

oC = (°F - 32°) = 1,8

(3)

(2)

(3)
(2)

(2)

{2)

i2)

(2)
[18]
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NOV 2019
QUESTION 3

ER

3.2

Afrcan Concrete Blocks 1s a company that manufactures square concrete blocks,
The diagram below shows the six steel moulds that they use to make the square
concrete blocks,

/7

e 4

[Adapeed from www researchaate ne)

Use the diagram abowe to answer the gquestions that fiollow,

3.1.1 Explain the meaning of volume.

3.1.2  Calculate {in |:11'a:| the volume of ONE concrete block.
You may use the following formula:

Volume = side * side = height

Thabiso wants to renovate the walkway in his garden. He wants to replace the grass
on the walkway with concrete blocks and pebbles.

The dimensions of the walkway, as shown im ANMNEXURE B, will be
4.05m by 145 m.

Use ANNEXLURE B to answer the questions that follow,
321 Caleulate (in m”) the total arca of the 12 concrete blocks.
You may use the following formula;
Area = side * side
322 Calculate the area of the walkway that needs to be covered with pebhles.
You may use the following formula-
Area = length * breath

3.23 Calculate the todal number of bags of pebbles needed to cover an area
of 5,7 m?,
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As part of the renovations, Thabiso will also be changing the look of two difTerent
windows near the walkway. The glass panes of the window frame will be decorated with

glass beads glued onto the glass pane as indicated in the picture below.
PICTURE AND DIAGRAM OF THE SMALL AND LARGE WINDOW PANES

I WINDOW FRAMES
PFICTURE
SMALL SQUARE WINDOW LARGER RECTANGULAR
PANES IN A FRAME WINDOW PANES I A FRAME
Fo
:
Z
P 1
i I~ ¥
JIJI |.r Jrﬁ_]n p— e 0
Small /
window 1 window pane
pane AArEe e
i13,5 cmE
| Adapted from waw.pinterestoom|

Use the information and diagrams above 1o answer the questions that follow,
Determine (in cm) the length of the frame of the large window,
Calculate the perimeter of one small window panc.

331
332

1313

334

The radius of one glass bead is 1,83 cm.
Determine how many glass beads will fit along the length of one small

window pane.

The total wadth of 2 small window panes equals %thr. width of one large

window pane.

Calculate the wadth of a large window pane.

(2}
(2}

(3

(4)
126]
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MAPS, PLANS AND OTHERE REPRESENTATIONS OF THE PHYSICAL WORLD

NOV 2017
DQUESTION 4

4.1 ANNEXUREB shows z rowte map and mmformation regarding the 222 km
2017 Cape Town Marathon.

Use ANNEXURE B 1o answer the guestions that follow.,
4.1.1 Mame the tvpe of scale used for the route map, (2)
4.1.2 What type of view 1s represented on this route map? {2

413 Name the general direction of the Groote Schuuwr Hospital (Tourist
Atiraction 10) from the starting point of the marathon. (2}

4.1.4 Determine the exact pumber of medical help points located on
the route. (2)

4.1.5 [dentify the suburbs in the vicinity of the haltway mark. (2)

d .6 [dentify the tourist attractions indicated on the map between the
15 km mark and the 20 kin mark (3]
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The diagrams below show a set of labelled assembly instructions (not in order of
assembly) to build a toy car with Lego blocks.

A

[Sousce: www.lego.com|

Study the diagrams above 1o answer the questions that follow.

421 Write down the correct order of the assembly instructions to build the oy
car, using the letters A, B, C, D and E.

422 Which letter (A, B, C, D or E) fits the instruction, 'Flip over the
part-assembly'?

423 A can of Lego blocks contains 20 red blocks, 25 blue blocks, 28 green
blocks, 30 black blocks and 27 white blocks.

A block is randomly sclected from the can,
Determine the probability that the block will be the following:
(a) Yellow

(b) Blue

(2)

(2)

(2)
(3)

33|Page



EC CURRICULUM: MATHEMATICAL LITERACY BOOKLET 1 OF 2020

424  The building blocks are packed into small cylindrical cans that are then
packed into a large rectangular box, as shown in the diagrams below.

CYLINDRICAL CAN RECTANGULAR BOX

Dimensions of small cylindrical Dimensions of large rectangular

can: box:

Diameter = 12,6 cm Length = 56 cm

Height =16,5¢m Width =41 em
Height = 35 cm

The cylindrical cans are placed upright in the box.

(a) Determine the number of layers of cans that can be placed in an

upright position in the box. (2)
(b) Hence, determine the maximum number of cans that can be packed
into ONE box, (3)
127}
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FEB 2018

QUESTION 4

4.1

Rammuone plans 1o travel from Eulesberg to Port Elizabeth using only national roads.

ANNEXURE B shows a strip chart of the route from Colesberg to Port Elizabeth.

Use ANNEXURE B 10 answer the questions that follow,

4.1.1

4.1.2

4.1.3

4,14

Mame the nestional roads that Fammone will uwse 1o travel to
Port Elizabeth.

Which national park 15 furthest from the N1{7?

Fammone met a friend in Paterson whe had to tavel &1 km wvia the
R336 from his hometown.

MWame the friend's homeioan,

Calculate the travel distance between the TWO national parks,

4.2

Rammone visited Port Elizabeth 1o check on the progress made on the house being
built for his parents,

ANNEXURE C shows the floor plan of the howse.

Use ANNEXURE C to answer the questions that follow,

4.2.1

422

423
424

425

(Grive (in mm} the external lengih of the wall that makes the area of
Bedroom | larger than Bedroom 2.

Determine (in m) the toal external length of the western wall of the
house.

Mame the room(s) that has more than ONE entrance.
[dentify the room that has the same floor area a5 the living room.

Which bathroom fixture s NOT shown on the floor plan?

(2)
(2)

(2)
(3

(2)

(2
(2}
(2}

(2}
119
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NOV 2018
QUESTION 4

4.1

4.2

A parkren is a weekly 5 km run. A group of runners drove from Upington to
Springbok 1o take part in the weekly parkrun in Springbok.

ANNEXLIRE C shows a route map from Upinglon o Springbok.

Lse ANMEXURE C to answer the questions that fiollow.
4.1.1  Give the general direction from Upington to Springhok,
4.1.2  Write down the name of the national park close o Kamieskroon,

413 Name TWO towns the runners will pass through on their way 1o Springhak,
following the N14.

4.1.4  ldentify the type of scale used on the map.

4.1.5 Use the given scale o determing the aciual distance (fo the nearest km)
between Upingion and Springhbok.

On arrval in Springbok the mnners must first pick up Joc, a fellow runner, before
heading to the parkrun {B).

ANNEXURE C shows a strect map indicating the route from entering Springbok (A)
o the parkrun (B).

Use ANNEXURE C to answer the questions that follow,
42.1 Name the road by which they will enter Springbok.
422 Joe gives them the following directions to his home:

Enter Springbok from Upington,
Turn right info Uitspan Sireet.
Tum lett into Lukhof Street.
Tum left into the first strect.

Use the directions above to determine in which street Joe lives.
423 Name of the lodge near the parkrun.

424 The distance from Joe's house to the parkrun is 2,34 km. They travel at an
average speed of 40 km'h.

Determine how long it will take them {in minutes) to get from Joe's house io
the parkrun.

You may use the following formula:

distance
speed

Time =

4.2.5 29 of the 42 athletes who participated in the parkrun were female,

Determine the probability of randomly selecting a male athlete from this
EFOLp.

(2)
(2)

{3)

4)

(2}

(2
(2

(3)

(2)
124]
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NOV 2019
QUESTION 4

4.1 ANNEXURE C shows a map of the Mountain Zebra Nafional Park.

Use ANNEXLURE C to answer the questions that follow,

4.1.1  Mame ALL the activities offered in the circle, Z. (4
412  Identify the 4 x 4 route situated north-cast of the Juries Dam. 2
4.1.3  Determine the number of restaurants found on the map. (2)
4.1.4  [dentify the type of scale shown on the map. (2)

4,1.5 The measured map distance between point A and point B is 10 em.
Use the given scale to caleulate the actual distance (to the nearest km)
between point A and point B . 4)

4.1.6  Field puides sometimes use drones {remote controlled aircrafts) 1o monitor
the movement of animals in parks.

PICTURES OF DRONES

The drone travels ot an averape speed of 30 km/h. For a particular task, the

drone flew a distance of 10 km from the guide and thereafter retumned 1o the
guide.
Calculate the total time (in minutes) for this particular task,

You may use the following formula:

Time = distance
speed (4}
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The floor plan of a chalet close to the Mountain Zebra Nationzl Park is shown below:

FLOOR FLAN OF CHALET

BEDROM 1 N

| Adapted from werw [ interestcomd

KEY:
ITEM SYMBOL ITEM SYMBOL
Window f— Cuphoard door |‘

Use the floor plan above (o answer the questions that follow.
4.2.1 State the number of doors on the floor plan with right-hand side openings,
422 Write down the name{s) of the rooms that will face the afternoon 2un,

423 Dietermine the probability of walking into a bedroom in this chalet with two
separate beds in one bedroom.

(2)
(2)

(2}
124]
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DATA HANDLING

NOV 2017

QUESTION 5

5.1

AMNEXURE C shows daia relating o the 20132016 admizsions for full-iime NSC
candidates for the 11 mosi common subjecis.

All full-ime candidates have to take at least seven subjects. Mathematics or
Mathematical Literacy is compulsory.

Study the information in ANNEXURE C to answer the questions that follow.

i1

5.1.2

al4

505

516

Mame another type of graphical representation that could be used to
represent this dsa.

Determine the maximum pumber of candidates who were admitted as
full-time candidates in 20146.

Determine the probability of randomly selecting a candidate, taking
Mathematics or Mathematical Literacy, who was admitied in 20135,

List ALL the subjects that showed a decrease in the number of full-time
candidates admitted from 2015 1o 2016,

Mame the subject that showed the greatest increase in the number of
candidates admitted in 2016,

Explain why this is called caregorical data.

[dentify which subject in 2016 had more than two hundred twenty thres
thousand, but less than two hundred seventy four thousand candidates.

(2)

(2)

(2]

(E)

(2)
(2)

2)
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The two pie charls, A and B, below represent the income and expenditure of all

south African tertiary imstitutions.

PIE CHART A
INCOME (IN BILLION RAND)

Dosatinms Twaitiem fees

= I-I‘IW
Rl
.
TOTAL B

ij l%‘

=i
e

Dithar sanresd |
1,78 u

o

T i e

Siate subsidios
11,83

FIE CHART B
TYPES OF EXPENDITURE

e Tatwrest 0,7%

Eervices SR%

| Soarci: wwwgrafikald, co.za)

521 Give ONE example of an ‘Other” type of expenditure spplicable to tertiary

inslilutions.

3.2.2 What percentage of income comes from donations?

523 Calculate the amount (in rand) of inferest paid by tertiary institutions.

524 Determing the difference (in millions of rand) between the income and

expenditure of the tertiary institutions.

(2
(3)
(3)

(3)
|26]
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FEB 2018
QUESTION 5

5.1

The two box-and-whisker plots below represent the percentage marks achieved by
two Grade 12 classes. Each class consists of 26 learners.

HO o
- —— o

1 | | 1 | | | ] | | ]

0 1 0 30 40 S50 60 TO 80 S0 100

The percentage marks for Class A, arranged in order, are given below:
F 58 a0 62 62 63 63 65 6

[ 7] it 67 649 70 mn LE 73

T35 75 75 H a0 H3 85 Ll
[SasAMS database]
NOTE:

#  F 15 the lowest percentage mark

» M is a percentage mark between 75 and B

311 Which ONE of the following terms best describes the data above:
[ ‘:ﬂtﬂgﬂﬁﬂ-ﬂl
«  MNumercal

#  Clualitative

512 Determine the percentage of data values that lies between the upper and
loraser gquartiles.

513 The range of Class A is 34.

Calculate the value of F.
314 Calculate the median percentage mark for Class A.
5.1.5 Determine the inter quartile range for Class B,
5.1.6 {iive the modal percentage mark for Class A.

5.1.7 Calculate the missing wvalue H il the mean percentage mark
for Class A 1s 70%.

5.1.8 Determine (as a simplified common fraction) the probability of randomly
selecting a learner from Class A who obtained a percentage mark different
from any other learner in the ¢lass.

()

(2}

()

()

(3
(2)

(3)

(3)
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A survey on the distribution of literacy levels among adults aged 35 to 64 was conducted in
all provinces in South Africa.
TABLE 5 below shows the 2016 adult (aged 35 to 64) literacy levels per province.
TABLE 5: 2016 ADULT (AGED 35 TO 64) LITERACY LEVELS PER PROVINCE
LITERACY LEVELS
PFROVINCE NON-LITERATE LITERATE TOTAL
Number o Number Yo
Western Cape 288 918 14,1 1 762 494 85,9 2051 412
Eastern Cape 393 954 26,0 1 120 567 T4.0 1514521
Northern Cape 94 552 279 244782 | 721 338834 |
| Free State 192933 | 241 | 6090290 | 759 | m01962
KwaZulu-Natal 650033 249 1 956 497 75.1 2 66 330
Morth West 209 504 28,3 7ol D6l T1.7 1 060 (62
Gauteng 575371 12,5 | 4013 463 87,3 4 558 534
Mpumalanga 32273 28,5 784 347 T1.5 1 096 620
Limpopo 372000 | 287 | 922171 T1.3 1294 261
TOTAL Q 12172918 | 15353 036
[Adapted from Community Survey, 2016]
NOTE: Some data has been omitted,

Use TABLE 5 above to answer the questions that follow,

5.2.1 Calculate the missing value ). (2)
522 Determine the percentage of literate adulis in South Africa. (3)
5.2.3 Express (as & unit ratio) the number of non-literate adults to the number of

literate adults in KwaSulu-MNatal, (3)
524 Arrange the number of literate adults per province in ascending order. (2)
3.2.3 Determine the province with the smallest difference between the

numyber of literate and the mumber of non-literate adults. (2)

132]
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NOV 2018
QUESTION 5

ol | _r_'l-ur]ng CErtain seasons in South Adrica, the wind can lead 1o fires that cause large
damages. The fire losses in South Africa for the period 2010 to 2015 are shown in
TABLE 4 below,

TABLE 4: LOSSES CAUSED BY FIRE FOR THE PERIOD 2010 TO 2015

010 | 2011 [ 20012 | 2003 | 20014 | 2015
Total loss in rand 1323 |2Z0B56| 3162 | 2158 | 1847 | 2732 |
(in millions)

GNI 26085 | 28970 3066 | 3441 | 3694 | 3913
(in thowsand millions)

Firclossasa%of GNI | 0,05% | 0,07% [0,103% | A | 0,05% | 0,07%
Number of fires 26,3 377 | 414 | 423 | 461 | 457
{in thousands)

Population (rounded) 499 517 a2l 529 53,5 54,3
(in million)

[Adapted from: bitp:/‘aww. fpasp.coz)

NOTE: GNI — gross national income

Study TABLE 4 above to answer the questions that follow.

511 Write down the todal loss, in rand, caused by five during 2011, (2)
5.1.2 Caleulate the mean todal loss, in rand, caused by fires for the period

2010 to 2015, (1)
5.1.3 Identify the maximum number of fires for the period 2010 to 2015, (2)

+1.4 Calculate the value of A, the fire loss as a percentage of the GMI for 2013,
Round your angwer o0 TWO decimal places. (d4)
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TABLE 5 below shows the labour foree characteristics of South Afrca for the fourth
quarter of 2017,
TABLE 5: LABOLUH FORCE CHARACTERISTICS IN SOUTH AFRICA
IMN 2017 (1IN THOUSANDE)
TOTAL TOTAL ECOMOMICALLY ACTIVE
LABOUR [ NEA TOTAL | Employed | Unemployed
FORCE
Eastern Cape 4 216 2071 2 145 | 391 754
Free State 1 893 6T 1 1% LA 1L 390
Giauteng 10 059 a0lG 7043 4 991 2052
Ewaulu-Matal 948 3638 3310 2513 X
_Limpopo 304 | 194 | 1763 | 417 MG
Mpumalanga 287§ 1 130 1748 X 06
Northern Cape T 349 441 a2l 120
Morth West 2534 1221 1 3:13 L 14
Western Cape 4 507 1412 3095 2492 Al
South Africa 37 519 15 475 12 054 16 172 5 K82
Adapeed from: wew statsss oo, 2]
NOTE: NEA — not cconomically active

Use TABLE 5 above to answer the questions that follow,

3.2.1

522
5.2.3

524

525

328

Explain the meaning of the term wremploved within the context of the table
ibove,

Determine the value of X, the number of people emploved in Mpumalanga.

Mame ONE data collection mstrument that could be used 1o collect the data
ahiove,

Calculate the percentage of people in the Western Cape who are NOT
economically active (NEA).

Write down the ratio of employed people to unemploved people in
South Africa inthe form ... : 1.

Determine the probability (as a decimal) of randomly selecting a person in
the Free State who is NOT economically active (NEA).

The graph on the ANSWER SHEET represents the number of
economically active people, as well as those who are not economically
active (NEA) in South Africa, The bars for ALL cconomically active

persons and only the bar for the people in the Eastern Cape who are NOT
economically active (NEA) are drawn.

Use the ANSWER SHEET to draw the graphs for the rest of the provinces,

Determine the probability, as a simplified fraction, of selecting a province
wiere fewer than 350 000 people are unemployed,

(2
(2)

(2}

(3}

(2)

(3)

{t)

(4)
133]
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ANSWER SHEET
QUESTION 5.2.7

CENTRE NUMBER:

EXAMINATION NUMBER:

NUMBER OF ECONOMICALLY ACTIVE AND NOT ECONOMICALLY

ACTIVE PEOPLE IN SOUTH AFRICA

10000

£

Number of people (in thousands)

Exstern Cape

KwaZulu-Natal

Provinces

Limpopo

Noethern Cape
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NOV 2019
QUESTION 5

51 The pie chart below shows the total recycling and composting of material for 2015,

TOTAL RECYCLING AND COMPOSTING BY TYPES OF MATERIAL FOR 2015
(91,16 million tons)

Glossary: Composting is the changing of waste material into fertiliser.

Study the pie charts above and answer the questions that follow,

51.1 Write down ONE possible data collection method that was used to gather

the abowve data, {21
512 Calculate the percentage allocated for yard irimmings. {3)
313 Determine the percentage allocated for textiles. {2}
514 Caleulate (in tons) the total amount of plastic recycled in 2015, (3
51.5 Give ONE possible example of a product that could be recycled under the

metals category. {2)
5.1.6 State another type of graph that could be used 1o represent the data sbove. (2)

3 LT Determine, as a decimal, the probability of randomly selecting a matenal in
the 'other’ category that is NOT textiles. (4)
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TABLE § helow shows the number of seats of the 267 South African Parliament that was
otcupied by the different political parties. Included in the table below is the pumber of
permanent and special delegates making up the National Council of Provinces (NCOP)
since the 7 May 2014 elections.
TAELE 5: NUMBER OF SEATS IN PARLIAMENT FOR THE DIFFTERENT
PMOLITICAL PARTIES PER PROVINCE
PROVINCE
DELEGATE X
PARTY ; | a | = w | TOTAL
wee | gle|s|§5[5|2] s
ANC Permanent 4[4 [3[4]4]4) 4|42 f 33
Special 3| 3|2 (3] 4] 4)3]3]|2 27
DA Permanent 1 I 21111 111 1] 4 13
Special 1| 1|2 1| 2 7
- Permanent 1|1 1 1 1 1 ]
EFF Special 10 ' 1 1
IFP Permanent 1 1
NFP Special ] 1
UDM Permanent L 1
o
[Souresaww wikipedia.oez |
NOTE:
African National Congress ANC | Inkatha Freedom Party I[FP
Democratic Alliance DA | National Freedom Party MFP
Economic Freedom Fighters EFF | United Democratic Movement UM
Usze TABLE 5 to answer the questions that follow,
5.2.1 State the number of KZN delegates in the NCOP. ()
§5.2.2 Write down (in simplified form) the ratio of the total number of permaneri
seals to special seats for the ANC in the NCOP. )]
5.2.3 Identify ONE party that has NO permanent seat 1n the NCOP, (2)
S.2.4 An incomplete bar graph showing the different types of delegaies
representing each party in the NCOP, is drawn on the ANSWER SHEET.
On the same ANSWER SHEET complete the bar graph for the Democratic
Alliance (DA). (3)
128]
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ANSWER SHEET
QUESTION 5.2.4

CENTRE NUMBER:

EXAMINATION NUMBER:

NUMBER OF SEATS

NUMBER OF SEATS FOR DIFFERENT PARTIES IN THE

NATIONAL COUNCIL OF PROVINCES (NCOP)

L
L

(7]
=

Ead
i

E=

African
Mational
Congress

Permancnt INEEEEEE——— |
ssasssssmsanssnsnsmnnn A1LN IRATARILELE
Sy _ L
I S SR

Permancnt

SERis=—==

| o
= { =
B I i | B
==
] i"'I

Special
Todal

%
:
5

Alliance

Permanent N |

Towl EEE |
|

Towl M| ||| [ ]
Special W |

Special

Special N

]
| E
! |
! &,
Economic Inkztha Tational

Freedom . Freedom Freedom
Fighters Pariy Party

FOLITICAL PARTIES

Permenent B | ||
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ADDENDA: 2017 — 2019 MATHEMATICAL LITERACY P1

NOV 2017
ANNEXURE A

QUESTION 1.2
MUNICIFAL ACCOUNT STATEMENT

Foriune 81 | Date 201 70142
13 Wood Sireet Statement for January 2017
Smielderado Estate
1811 |
Account Number 547 §92 30495 8233 |
Stand Size | Number of Dwellings | Valuation Date | Portion | Municipal Valaation | Regioa
463m° | l 20130701 C | Market value R690 000 ' 0Q
Water and Sewerage o
- - AMOUNT | SUBTOTAL
Rending Period (23 duys): 2016/11/27 to ... ]
“Meter readings and consumption:
Start reading 467,00 and end reading 479,040
Consumpticn = 12,00 kE
Daily average consumption 0,522 kE o B S ]
Charges for 12,00 kE are based on a shiding scale,
Step | 4,534 ki @ RO,D 0,00
Step2 3,022 ki@ R7,140 21,58
Step3 3.7TTRKE @ R1Z.070 43,60
Stepd 0,666 ki@ R17,650 11,76
Monthly sewerage charge based on stand size 463 m’ 208,36
(Billing pericd 2016/12)
WVAT: 14,00% o 52,82 | 430,12
riy Rates
Category of Propery: Properiv Rates Residential
Property rates are based on the market value of the property and are
calculated as folkows:
POl (o0, 0o = RLO,006 916 0= 12 A
Less rates on first R200 000,00 of market value 115,27
VAT: 1% - 0,04 B
| Refuse
Refuse Removal 147,00
WAT: 14% 20,58 167,58
. Current Charges ﬁnc:l._‘nl'atl":l g . E30,10 |
Frevious Account Outstanding Balance 919,33 |
| Current Charges B30, 10
| Total Due 1 799,43 |
Drwe Drate 20170125 |

|Adapted from City of Johanmesburg Municipal Accoont]
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ANNEXURE C

QUESTION 5

FULL-TIME NSC CANDIDATES" ADMISSION FOR THE 11 MOST COMMON SUBJECTS

Subject Difference
[EENEE] 143 962
A 158 58 ToEa
Agricaitural 106183
Scences 13 507 LT
Business | 254187 -
e 21 658 ¥ -4529
Econoicy NSRRI 169 938 Y -3493
IS 166 445
v N = R 1
Additional 554 656 L 12248
Language
A 12641
L7436
L 14137
v =-9%017
L 18200
Piysical [ 197 047
Scesces N 205 S24 Lo
KEY | Admitedin 2015 [ Adwitted in 2016
[Source: waw praghics24.co.za)
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FEB 2018
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ANNEXURE B
QUESTION 4.1

STRIP CHART OF THE ROUTE FROM COLESBURG TO
PORT ELIZABETH (DISTANCES IN KILOMETRES)

0 O e 402
Honover 7° : Colesberg 45 LT

_

Gaoariep Dm

ROUTE
Port Elizabeth to .
Colesberg I
34 ) Noupoort 348
Nicu Bethesda l
® i
24 i
Graofi-Reinot 1
94 O (") Middelburg 298
85
195 Cradock 207
R7S
285 i, . ' ¢ 17
43 el-
2 :
380 22
Kitkwood
Humaoans- ' Grohams-
dorp o Elizabeth !
: N 204136 H119 || 59
402 - @QP-= ) ——— —— 0

[Source; www.google.com]

KEY
0 National road N.P. National Park
R75 Regional road
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ANNEXURE C

QUESTION 4.2
FLOOR PLAN OF A HOUSE IN PORT ELIZABETH

2050 —
3

3750 '-'_"""I

1700

8 i O :
- Living room
25 | Bedroom? L 1
wi o Wi

MNOTE: All messuremienis ane in millimeires,

KEY: ITEMS DESCRIFTION

w1 = Window opening

w2 = Window opening
o Opening requiring solid door
- —
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NOV 2018

ANNEXURE A

QUESTION 2.1

STUDENT FEES STATEMENT FOR TAMRYN ABRAHAMS FOR SEFTEMBER 2017

Details™: Balancesfinterest/course code/eoarse name

P UNIVERSITY OF CAPE TOWNM
FEES OFFICE 1 S37 T1 GED-1T04 Feas and Cashiers Ofce HoursiLocation:
ueT B 537 21 6E0-4TRE Morsay - Friday  83hid - 15033
EPRIVATE BAS B3 . Email ddeeng@ueiaczs  Thursday - 29030 - 1532
RONCESOSCH © Wab: hiporews USSACES  Lewel 3, Kramer Law Building Midele Campas
STUDENT FEES STATEMENT Page 1 of 1
Miss Tamryn Abrahams | Statement of account as on 0a/117T ]
24 Hoop Sirect e-mail address JohnAbrmsa g mail.com
Extension 12 Invaoice I UCT STAT NO. 0003399891
Upington Student name Tamryn Jessica Abrahams
8801 Student number ABRTAMO02
Account number 1567858 o
Anticipated funding RO,00
Date Details* Debit Credit Balance
Balance hrought forward 14 B19.50 14 819,50
1L Imterest on overdue fees 148,20 14 967,70
160417 Mo, 5 Bank Acc direct deposit Bef 930230173 8 650,00 & 317,70
(0307 APG 2000F History & Theory of Arch 3 030,00
i30T APG 2000F History & Theory of Arch 3 030,00
O&t0317 ARG 20038 Theory Structures 3 2 280,00
00317 APG 2009F Theory Stractures 4 2 280,000
LTRSS b APG 20 E Technology 2 G 580,000
00317 APG 2038W Environ & Services 11 4 530,00
Q60317 APG 2039W Design & Theory Studio 11 2% 460,00
23037 Late payment penalty 2 087,00 62 554,70
160517 Mo. 5 Bank Acc direct deposit Rel 930241526 =23 000,00 | 3% 5%4.70
11/0817 [nterest on overdue fees 349595
10ma7 Interest on overdue fees 595
E. & O.E Due to us ol B4l 386,60
[Adapted from wwe, srvwinp sw(ilh, winetac.zn]
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ANNEXURE B

QUESTION 3.1

FOUR-LAYER RED YVELVET WEDDING CAKES

AMY'S FOUR-LAYER CYLINDRICAL RED VELVET WEDDING CAKE

AMY'S FOUR-LAYER RECTANGULAR RED VELVET WEDDING CAKE

15 em

k
y

35om

Length of top layer = 15 cm
Length of bottom layer = 35 cm

‘ 12
iy

Width of top layer =12 cm
Width of bottom Lever = 33 cm

[Adapted from waw.pinterest.con)
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NOV 2019
ANNEXTRE A

QUESTION 2.1

EXTRACT FROM MR DANIELS' MONTHLY MUNICIPAL STATEMENT

Mr KJ Duanicls Dot 200190312
14 Sirkoon Street Statement for:  March 2019
Kruger Park
2738
STAND | NUMBER OF DATE OF PORTIONN MUMNICITFAL REGILON
SIZE | DWELLINGS | VALUATION VALUATION
463 m’ 1 2018407/01 RI Market value WARD C
RO44 630,00
ACCOUNT NUMBER: 345 678 5900 60
SUBTOTAL| TOTAL
(R} AMOUNT
(R)
Waier and sewer
Reading period B 2015/01/16 to 2019/02/12 )
Meter reading Start: 795 000 B -
End: 807 000
Water usage 12 kE (kilolitres)
Daily average consumplion 0429 kL
| Charpes for 12 ki arc based on a sliding scale Inr a Eﬂ-da}'_.[:-ermd . _ B
Total water charge (excluding VAT) i B
Water demand management levy 22,64
Monthly sewer charge based on stand size (excluding VAT) A
VAT: 15% 13,75
| PAYMENT DUE XXX
DUEDATE| | 201903727
STEPPED RESIDENTIAL WATER SEWER MONTHLY CHARGE BASED ON
TARIFF __STAHII SIZE
KILOLITRES 201819 STAND SIZE (m*) 2018119
PER TARIFF (RkE) TOTAL CHARGE
CONNECTION EXCLUDING (1N RANDY)
FER MONTH 15% VAT EXCLUDING
15% VAT
frorm 0 1o 6 8.28 | Up to and including 300 m 194 57
above G 1o 10 8,79 Larger than 300 m" 1o 1 000 m° 378,95
_above 10w 15 | 15,00 Larger than 1 I:qum to 2 000 o 573,29
above 15 to 20 21,83 Larger than 2 004 m° 836,02

[Audapted from woeow.jnborpwater co.m and www joiark(fs o0.28)
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ANNEXURE C
QUESTION 4.1

MAP OF THE MOUNTAIN ZEBRA NATIONAL PARK

0 2 4 km
A X
0 Cir o
2t p
&eing, N
“ o
Salpeterkop
1513 m
W“; AN
Qo 4 x 4 route C"q:
“’4. o #
: S
)
Al i Ll - .B

MOUNTAIN ZEBRA
NATIONAL PARK

A Mountain hut
# Guesthouse
NationalPark @ No admission
@ Swimming pool «+4 x 4 route
Prcnic Hiking trail
195 @Restavrant B3 Lookout point
®Buseturn A Camparea

|Adapted from www g raficka2d.comj
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EC CURRICULUM: FET MATHEMATICS, MATHEMATICAL LITERACY AND TECHNICAL MATHEMATICS

EDUCATION
IS THE MOST

?OMLEREUL WEA‘PO__N L
WE CAN USE

TO CHANGE THE WORLD

- NELSON MANDELA

MEMORANDA GROUPED
ACCORDING TO QUESTIONS/
TOPICS
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NOV 2017
QUESTION FRA4G 1 [32 MARKS'PUNTE] ANSWER ONLY FULL AMARKS Q'F | Solution' Oplessing Explanation/ FVerduideliking | T&L
QY | Solation Oplessing Explanation Ferduideliking T&L D
i 1.1.6 | E11; B15; B18; B22; B30; B43; B4H4; B45; R4S, 14 arranging in correct order | L1
111 « . R250 o A
1/one faam VA L | If narmes used max 1 mark |
OFRAAF
(4]
L M
A day /‘mdag A 1A for corect day 1.2.1 | English = 35 latters OR 15 letters v 4 24 correct number L1
ORAQF Afrikaans = 37 letters OF 17 latiters +v A WC, F5, NC Provinces
accept both
One day / Een dag v A %)
5 @
M
1.1.2 | Price before saving / Prys voor besparing 1M addins correct valnes L1 - : e ;
R70 +R250 vM 14 si‘:r.ﬂ[-:ll-].ﬁ'mannn 122 |Hfc A 24 comectreading t
=R320 VA ,
1.1.3 F )
Aris] ¥+ A 1A product R MP
=) 1.2.3 | One unit on the drawing represents twenty Sve units L1
LA M in reality / Een eenhetd op die tekening
1.1.4 [ 750m =1 000 1MA for dividing by 1 000 L1 verteamvoordig vif en winng eemhede in werkiikhad.
=0,75¢ A 1A simplification only if division vvA
OFRAAF OR/OF OR/OF
+MA S i Scale in this context means that the drawing of the 24 correct definition
750 m £ x 0,001 i‘fj‘ f':"h,:'if""}‘“m}m;] 1?3:':""’"'311 e T-shirt is 25 times smaller than in reality .
=075 A 4 simplification only if multiplied Skaal in hierdie bonteks beteken dar die rekening van
dig T-hemp 25 keer Eleiner iz as in werkiikheid.
(2} VA
F ORAOF
1.1.5 | Price / Pryz 1MA multplying correct values L1
=R11 =3 +MA 1CA simplification On the picmure the shirt is 25 times smaller /
=R3300 «vCA (only if B7,70% 3) Op die fote iz die hemip 27 beer Eleiner v A
2 (4]
= M
124 |=6lmm ~~A 1A correct measurement L1
(Accept 5% mm - §4 mm)
Cormect answer in cm =
max 1 mark
]
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QF | Solution' Oplossing Explanation Ferduideliking | T&L
131 M
Two Oceans Marathon / Twee Oreane-marathon IRT reading from table L1
¥+ RT
Accept:
Faace on 15 April 2017
Face of 56 km
Faace with an entry fee of
F.520,00
2
132 M
Comrades Marathon / Compader-marathon « BT IRT reading from table L1
Accept:
Faace on 4 June 2017
Face of 8% km
Face with an entry fee of
B460.00
2
133 F
B520,00 — B460,00 ET 1RT comect valnes from the | 1)
=R460,00 «8 table
LA answrer
2
M
141 |12Hows /12 Ure vv A A correct time L1
ORAQF Accept:
12:00 ORAOF
Half a dav / Halwe dag v+ A 12 o'clock
Max 1 mark
2
D
1.4.2 | Discreta / Diskroer v A A discrete L1
(]
D
143 *RT 1RT comect values from L1
17031:13852 vA tabla
1A correct values in correct
order
AcCCept anSWer &5 it
Tatios:
1:0,813
1220:1
Accept answer in fraction
form
NFR
2
[32]

FEB 2018
Cruestion 1 [30Marks] AQ
Crues | Selation Explanation Topic'L
111 M
31 years vvA 24 numerical period LI
OR OR
Three and half a years «'+'4 2A period in words
OR
3 years § months
3,5 years « v A {omly 1 mark)
2
112 F
Total Repayment Cost=F1 078,26 =~ 42+ 10A | 1WA omltiply term by L1
instalment
=435 28602~ CA 1CA Total cost From Q1.1.1.
2
113 Y F
Discount = B20 909 00 = 15% 1M cale. discoumt L1
=R4 490 85«4 14 zaving
@
121 M .
AD:CB= 109:045 1M ratio form MP
L1
= 218:189 v CA 1CA simplified form
Accept unit ratio
(1: 08T OR (1,15: 1)
2
112 v M4
CD=12582m - (57,5 + 10,9 + 0.45) 1MU/A subtracting all M
lengths L1
=4307Tm ~CA 1CA length
2
123 M
Badius = ﬂm v M 1M dividing by 2 L1
e 14 simplification
2365mwp —
2
124 +AA F
Total Cost =F97.56/m = 1WA multiply cost by L1
comect distance
=R5 609,70 vCA 1CA simplification
2
131
C ¥v¥A 2A city D
| L1
132
Range =8°C - (- 7°C) »"MA 1MA cubtracting correct valnes | D
L1
=15°C ~CA 1CA temperatare
2]
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Crues | Solution Explanation Tapic'L
133
(a) |B «vA 2A city B
(23| L1
133 B
(b)) | Likely OR less likely . a 2A comect words L1
[#4]
141 D
Bar graph v g L1
OR
Singla bar graph. ¥ A
OR 2A comect rype
Vertical bar graph ¥ ¥ &
OR
Column graph  +¥'~'A (@
142 g M
Three hundred and sixty one thousand nine hundred | 2A number in words L1
and forty eight
()
143 D
Q5 #vA 2A comect question L1
@
144 D
. 180 1MA numerator and L1
Average time per mark =ﬁ min  «hA denominator "
5
=17
Llmin ~CA 1CA simplification
OF
. 3 hours OR
Avarage tima per mark =—— v MA 1MA mumerator and
=002 = &0 min denominator
=12min ~C4 1CA simplification
OR OR
150 marks : 180 min " MA
. . 1MA correct ratio
a3 - 3 v
Imark : 1.2 min CA 1CA simplification
2
[30]

NOV 2018
QUESTION/FRAAG ] [32 MARKS'PUNTE] ANSWER ONLY FULL AMARKS
Q'Y | Solution' Oplossing Explanation Ferduideliking T&L
M
111 {1/ one/eem v A L1
OFRAF
Aday/'mdag v¥A 2A for cormect day
OFAF
One day / Een dag v+ A 1)
F
112 P:I.ce bE-fl:l_!'E saving / Prys voor besparing 1M adding correct values L1
R70 +R250 vM 14 simplification
=F320 A
{2
1.1.3 F
Arisl *+A 24 product L1
-
z)
< WA M
114 (750 m i+ 1 000 IMA for dividing by 1 000 L1
=075 «vA 14 simplification only if division
OFRAF
QFAQF
WA
750 m £ % 0.001 1MA for multiplying by 0,001
=075 A 14 simplification only if multiplied
(2
F
1.1.5 | Price / Pryz 1MA multiplying correct values L1
=R11=3 +MA 1CA simplification
=R33,00 «CA {only if R7,7T0x 3)
a
2)
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Selution' @plessing

Explanation Ferduideliking

T&L

Two Oceans Marathon / Twee Ooeane-marathon
BT

IR.T reading from table

Accept:

Faace on 15 April 2017
Face of 56 km

Faace with an entry fee of
B520,00

(n

M

Comrades Marathon / Comrader-marathon BT

BT reading from table

Accept:

Face on 4 June 2017
Face of 89 km

Face with an entry fee of
F460,00

(2

F.520,00 — R460,00 BT
=R60,00 ~4

1RT comect valnes from the
table
14 sme=wer

(

12Howrs /12 Ure « A
OF/QF

Half a day / Halwe dag v v A

1A correct time

Accept:
12:00 ORAOF
12 o'clock

Max 1 mark

02

142

Discrets / Diskreat « v A

214 discrete

]

(=]

Q'Y | Solution' @plessing Explanation Ferduideliiing | T&L
D
1.1.6 | R11; R15; R18; R22; B30; F43; B44; F45; B45; 1A arranging in cormect order | L1
B350 .
[ 1f names used max 1 mark |
2
M
1.2.1 | English = 35 letters OR 15 letters « ' A 1A correct number L1
Afrikpans = 37 lenters OF 17 lafters « v A WC, F5, NC Provinces
accept both
(2
M
122 |#4% VA 1A correct reading L1
Accept44 - 45
(2
MEP
1.2.3 | One unit on the drawing represents twenty Sve units L1
in reality / Een senherd op die tekening
verteemwoordig vif en winng eenhede in werkitkhed.
» o
OF/QF
Scale in this context means that the drawing of the 214 correct defimition
T-shirtis 25 times smaller than in reality .
Skaal in hierdie konteks beteken dat die rekening van
die¢ T-hamp 135 keer Eleiner iz as in werkitkheid.
v A
OFR/0F
On the picture the shirt is 25 times smaller /
Op die foto iz die hemp 17 beer EHeinar « v A
2
M
124 |=6lmm ++A 1A corTect measurement L1
(Accept 58 mm — §4 mm)
Correct answer in cm =
max 1 mark
2

143

+RT
17031:138

LA
[
s
b=

1RT comect valnes from

talla

1A correct values in cormect
order

Accept answer as umit
Tatios:

1:0,2813

1,220:1

Accept answer in fraction
form

NFE
]

[31]
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NOV 2019
QUESTION/FRA4G 1 [30 MARES/PUNTE] AOQ QF [ Solntion' Oplossing Explanation' Verduidelifing | T&L
Q'F | Solution' @plossing Explanation Ferduideliling | T&L M
D 121 |1k =1000¢ Ll
1.1.1 | Numerical data/Numeriese data vy 24 comect identification L1 T =400¢g
) . . 400
] o ~ Quantity/ massa inkg = Tooo m§ “MA 1MA dividing by 1 000
5 -
113 Modal allowance/Modale roelaag L1 =04kgvA 14 amountin ke
24 mode ’ OROF
=ER1T780 «+vA ) OROF
()]
a ; D 400g=Lkr na IMA dividing by 1000
1.1.3 | R1 715; B1 T15; R1 605; 1 605; R1 695; RO60; B405 + v A | 24 descending order L1 E=Tom & nE M
1A amount in kg
=04k A
) OROF
F ORAOF
1.1.4 | Increase in rand/ Ferhoging in rand L1 _ VI IMA multiply by 0,001
BT 1ET correct 2 values 400 =400 x 0,001ke ]
Rl TR0 -E1 &85 =04kg l_A s:mmmtulkg
=RE5,00 va 1A simplification NFU
(3] 23
D BT 1R.T correct values F
1.1.5 | Pension sllowances older than 75«4 1A correct allowance L1 122 | Profit'Fin: = F14,30 - R10.99 M 1M subiracting values L1
Staatsonderdomstocias ouer as T5 =R331+CA 1CA simplification
War veteran allowances/Oorlogrvateraneroeiae Toelae: vir [E)]
porlogsnveterane ~ A 1A comect allowance M
) 1.2.3 | Number of packets/Geral paklies L1
15k 1000 «NLA 1MA multiply by 1 000
P REX oo oM 1M dividing by 250z
= 10 packets/pakkies +CA 1CA simplification
OR/OF OROF
25kg ~C 1C converting into kg
P 1M dividing by 0,25 kg
0.35kg M 1CA simplification
=10 pﬁﬂ:ﬂi +CA
OR/OF
OR/OF
250z : 25kg VMA 1M A ratio concept
250g - 2500g ¥C 1C conversion to same unit
110 1CA simplification
= 10 packets «CA &)
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Q¥

Selution/Oplossing

Explanation Ferduideliling

T&L

142

Probability Waarsbynlibheid

2
=20% ORAQF 0,2 OR/0OF 20 OR/0OF — ORAQF 1
100 10 5

ORAOF
unlikely'emeaarsigmitk
ORAOF

less likely/minder waarskynlik ¥ ¥ A

24 comrect valuefwords

2

L1

[20]

'V | Selution @plossing Explanation' Ferduideliking T&L
F
1.2.4 | Selling price/Ferkoopsprys L1
B29 20
3 vMA 1MA dividing correct value by 8
=R3.65 o 1CA simplification {only if dividing
by & or commect valoe used)
OR/QOF OR/OF
kg
—= =0,25kg
B
~ 2kg=R1920
P 0,25=B.20.20
03ke= ———— ma 1MA dividing by 2 AND
multiply by 0,25
=R3.65 «CA 1CA simplification
2
D
1.3.1 |69 OFAOF 60% v A 1A commect value L1
(g 2}
D
1.3.1 |80 OBAOF B0% +wv A 1A commect value L1
(b) 2
D
1.3.2 | Difference/ Farskl L1
BT 1E.T both commect values
B4% — §4%
=20 «CA 1CA simplification
2
D
1.4.1 | 16:00 OR/OF four o’cleck in the afternooniier | ZA comect value L1
uur in die middag OF/OF ¥poaginm ]
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FINANCE
NOV 2017

LN = SRUURSLE SUSACEIES

QUESTION/FRAAG 1 [41 MARKS/PLNTE]

Q¥

Solntion/ Oplessing

Explanation/Verduideliking

Ta&L

111

A
Interest refers to the amonnt that will be added to an
account that is not settled yet / v A
Rente varwys na die bedrag wat by die agrerstallize
bedrag pevoes word.

OFA0F
v A A
Extra amount is charged on the late payments /

Ekstra bedrag wat gehaf word op laar betalings.

ORAF
v i v A
Extra money to be charged on overdue fees /
Ekstra gpeld war op agtersiallire gelde gehgl word.

ORADF
vl A
Money charged for not paying fees on time /
Geid gehefvir fooie nie belyds betaal nia.

ORAF

v
Interest in this context is the -:'I:irge levied becanse of
unpaid fees or late payment of fees /v’ 4
Dt is ekstra geld war gehgl word omdar die rekening
niw ap fvd betaal word nie.

1A amount charged
14 reason

L1

R14 819,50 v +RT

JA.T balance

L1

BT
14820 100

Ees0 1 M

= 1,000033739329037
=1% «CA

1BT comect values
18 mmiltiply by 100

1CA snowear

3

L2

QVF | Selution' @plessing Explanation Ferduideliking T&L
BT 1RT code F
114 | ARG 2039W Desizn & Theory Smdie T ¥ BT 1ET name L1
[ APG cmitted = full marks |
2
F
215 +RT 1ET comect values L1
R14 967,70 - B8 650,00 +M 1M submacting deposit
=FRi6 317,70
2
AD F
2.1.6 | Total amount / Totale bedrag  ~'RT v M Ll

=F3 030+ R3 030 + B2 280 +F2 280 + B9 530 +

B4 530 + R20 460 + B2 087 + R305.95 +
730595
=R57 068,90 +CA

ORAOF

Total amount / Tetale bedrag

*M +RT
=R62 504 -R6 317,70 + I = R30505
=B57T 068,90 v CA

ORAOF

Total amount / Tetale bedrag

vRT v’ M
E40 386+ B23000 + REGS0 — R14819,50 —
E148,50=F57 068,90 4

OFRAOF

Toral amount ¢ Tetale bedrag
vRT M
B3 030 + B3 030+ B2 280 + B2 280 + R0 580 +
B4 530 + R29 460 + R395.95 + R395,95
=F.54 081,90 v CA

ORAQF
Total amount / Tetale bedrag
* M vRT
=R62 594 -R6 317,70 + 2 = R38595 — R2 087
=R54 981,90 vCA

OR/OF

1R.T reading all comract values
1M adding valoes

1CA simplification
OF/0OF

1E.T reading all comract values
1M subtracting valuss

1CA simplification
OR/0OF
1E.T reading all comrect values

1M subfracting values
1CA simplification

OROF

1R.T reading all comract values
1M adding valoes
1CA simplification

ORAOF
1E.T reading all comract values
1M subtracting valuss

1CA simplification

OR/OF
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Solution' Oplossing

Explanation Ferdurdeliking

]

Solution' Oplessing

Explanation Ferduideliking

Total amount / Totle bedras
+RT v I
B4 386 + B23000 + RB650 - R14819.50 -

F148,50 — B2 087 =R54 981,90 v CA

AFRIKAANS VRAESTEL:
BT M
RI14820 + 3030 + R3030 + R2280 + R2280 +
R8580 + B4530 = R29460 + R2087 + 38595 +
R395085=R57217.10 *CA
OROF
vET M
R0 386 + R23000 + 8650 — R14819.50
=R57217,10 ¥ CA
OROF
M vRT
R62 59470 —R6317,70 + 2 x RI85.05 +
R14820
=R57217,10+CA
OROF
+RT M
R14820 + 3030 + R3030 + R2280 + R2280 +
RO580 + F:4530 + RI0460 + R305 05 + B305,05
=R55 130,10 v CA
OROF
+ET M
B0 386 + RL23000 + RE650 — R14E10.50 -
RI087
=R355130,10 vCA
OROF
M vET
R62 50470 —R6317,70 + 2 x R395.05 +
R14820 - B2 087
=R55130,10 vCA

1E.T reading all comrect valnes
1M subtracting valoes
1CA simplification

1E.T reading all comrect values
1M adding valnes

1CA simplification
OFRA0F
1ET reading all commect values
1M subtracting values
1CA simplification
OFRA0F
1ET reading all commect values
1M subtracting valoes
1CA simplification
QOFQF
1ET reading all commect values
1M subtracting values
1CA simplification
OFRS0F
1ET reading all commect values
1M adding valoes
1CA simplification
OFRS0F
1ET reading all commect values

1M subtracting values
1CA simplification

(3

[ =)
=

Direct deposit / Direkre deposito + v ET

BT reading comectly

| Accept deposit only |

(2)

Monthly instalment / Maandelifse paaiemant
R40 38660 =5 w4

v M
=RE 077,32

OR/OF
Monthly instalment / Maandelifse paaiemant
REOT732 x5 YA
=+ M
=F40 386,60
OR/OF
Monthly instalment / Moandelitse paaiemant
R40386,60
REOTT 32

+ M

14 calculating 5
1M dividing by 5

QROF
14 calculating 5
1M mmltiply by 5
QOFOF
1M dividing commect values in

correct order
14 calculating 5

(2)

[
ba

v
Inflation is a measure nfratei-?whjch the cost of goods
iz changing over a period of time and is usually
expressed as 3 percentage /| ¥ 4
Inflasie iz die meting van die boers waarteen die prys
van goedere Verander oor ‘m ydperk en word
gewoonlik uitgedrul in persentasia.

OE/0OF
v A

The percentage imcrease of the food prices over the
period 1970 - 2015 /+'A
Die persentasiefoename van kospryse oor die jdperk
1970 - 2015.

OF/0OF

v A v A

Parcentage increase of price over a peried of tme
Parsemtasie verhoging van prys oor n fydperk.

OR/OF
A A
Inflation is the rising price of goods/items over time
Imflasie is die stygende prys van goedere/dienste oor
fyed.

1A percentage increase
14 tme

(2)
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Solution' Oplessing

Explanation Ferduideliking

Selution Oplessing Explanation Ferduidelifing T&L
F
E0.30 OROF 30c < RT IRT correct value L1
Accapt 0,30
If the candidates only
wrote 30 = max 1 mark
4]
¥ M AQ F
E.557,00- R418,00 YEC 1R.G comect amount L1
=R13800 «wCA 1%{ subtracting
1CA simplification (one of the 2
wvalues must be comect)
3
A0 F
Parcentage change / Prezentarioverandering |~ L2
v RT
M,Eu& VEF IET all comect values
RO,25 15F substitute correct values
1CA commect percentags
=2100900% +CaA
OFA0F OROF
Percentage change / Prezentasieverandering
BT
75 S o 1ET all comect values
_I]_IS x 1|:||:|D—J|:| DC‘C‘I /5{ _}‘{ S'.lbtl'&'._]ﬂg
Therefore % increase = 30 000% - 100% 1CA comect percentaze
=29 900% v CA .
3

Cost price / Eosprys
100 xlm.g{l wIA

1175 1
=RE0 28 A
OF/0F
Cost price / Eesprys
104 50 .
117.5%
=Rgo28 Y4
OF/OF
Cost price / Eosprys
104,90 vMA
L17%
=REp 13 VA
OF/0F

Cost price / Eosprys
175

”-"5

R104.00-R1562 ~MA
=RER 28 A

o B10490 =F15 62

AQ
1MA multiplying comect values
1A snswer
OF/QF
IMA dividing correct values
in the commect order
1A sanswer
OF/QF

184 dividing correct values
in the correct order

1A answer

ORAQF

1MA multiplying and subtracting
cormect values
1A answer

[
i

(=

A
B ORAGF FE.241 600 000 000 v v 4

A comect value
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]

Selntion' Cplessing

Explanation Ferduideliking

Selution' @plessing

Explanation Ferduideliing

I
ia

Budget is the proposed way in which money will be
spent on different items

Begroting is die voorgestelde manier hoe die geld vir
verskillende items gespandeer behoort fe word. A

OF/QF
A plan on bow money is going to be spent on
estimated income
‘n Plan oor hoe geld op beraamde inkomsie besiee

gaan word. s a
OFR/OF

A plan in how money is going to be spent
‘n Plan howe geld uitgegee / spandeer gaan word. e

OFR/OF

Financial plan how to spend money/ finance
Finansigle plan hoe om geld / finansiering ie
spandear. « 4

OROF

Estimated income and expenditore of money

1A definition

Education Administration plus N5FAS amount
to 31,1 billion rand

Onderwysadminizrasie plus NSFAS bedrag
tor 31,1 miljard rand

2T YA

Accept any estimation from 9 5% buat less than 9 86%
Aamaagr enige skatting vangf 2,5% maar minder as
0.86%

OFOF

15,8+ 15,3 = 31,1 billion / mifjard ~ M

=0T% «4

Accept any estimation from 9 5% buat less than 9 86%
Aamaagr enige skatting vangf 2,5% maar minder as
0.86%

AOD

1A correct estimation

QORAOF

1M adding values
14 estmated value

(2]

(s katte inkomste an uitgawes van geld. w8 (D
2.3.3 | 5kills development levy institutions IRT cormect sector
Fagrdigheidsontwikbelinghgffingsinstellings  ««RT ey
13 4 | Percentage of the total education budgzet
Persentasie van die totale onderwyshegroting
*RGET 1RG/ET correct values
15_3 . - . . .1
27 100% M 1M mmltiply by 100
3205
=477 *CA ICA answer
OROF ORAQF
Parcentage of the total education budget
Persemtasie van die totale onderwysbegroting
v: RGERT
wxﬁua v A 1RG/ET comect values
R320 500 000 000 1 1M multiply by 100
=477% v CA ICA answer
NFE
3
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FEB 2018

Cuestion 2 [44 Marls] Ques | Selation Explanation Topic/L
Crues | Selution Explanation Topic'L 21.6 FMA
211 F B740.22 + RT740.22 = §5% 1MA percentage F
Stop order: an instmction to an employer or bank to Ll =RT740.72 +RA2 0187 M L1
pay / divert monthly or transfer regularly a certain =RE803,14 1M adding two valoes
amount 1o 3 PEIs0n Of a0 account ¥ 0 OR
# M OF
OR S - T N
. . BT40.22 = 108,5% «MA 1M mmltiplying
Stop order: an nstuction that an employee 20 explanation =R803.14 IMA 108.5%
{individual) issue to the employer (bank) to make a OR OR
series of future dated regular deductions v O
740,22 « B,5% = £2,9187 vMA 1MA pescentage
OF - 803,14 — 62,9187 = 740,22 vM 1M subfracting values
¥ 0 1
Stop order: Future dated regular monthly deductions ) 371 E) T
712 A T Hourly overtime rate = B17,76 11 v MA 1MA hours L1
212 o M . . .
Difference = R.040 465,80 ~ K336 533,25 1M/A subtraction of L1 = R2368 CA 1CA rate
correct value AQ
=F403 242 64 v C/A 1CA simplification [l
AD T F
S <A A 1MA incr - 1504
2 3017 Sunday wags rate = 10,30 » 1508 = Bo0 go | [MIA incressing by 150%: |y,
713 F s 1A Sunday hourly rate
Kumber of years (2017 - 20283 =12 + M/A 1M/A calculating years L2 Total wage =3 = 0 « B20.00 +M 1A hours per day
=RT785,43 »cp 1M multiplying
Kumber of months in 12 years = 12 =« 12 1C converting years to ICA wage
=14 + A months
Number of months from 10 May to | November=§ = | 1A additional months OR 10
_ v MA A |
Total number of contributions = 144 + § 1CA total mmber of 2018 Sunday wage rate =R1780 = 150% =R2685 | . . . —
=150 »Ca months, ,a_“i'f IMA increasing by 1500
10 Total wage =3 = 0 =« B26 85 M 1ASunday hourly rate
[l =RT72495 v CA 1A hours per day
214 IM/A mulsiplying (5 and |F 18 multiplying
Total contribution value 123 L2 1CA wage
« M/A 1E.T reading monthly PR
== 1) =E740,22 v BT contrbution (5
=RH 41320 »Ca 1CA total contribuwtion
AO
HPR
{3}
215 A F
a greater [ an increased’ a higher / more’ bigger larger’ | 2A commect missing Ll
inflated / better words
(3]
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Craes | Selution Explanation ToepicL Caes | Selution Explanation TepicL
113 i F EFRETE =
() s 17.76-1640 _ jppos v M 1M percentage L1 T | Toml W Ty P P, 4
g INCTEASE -———— T — Yo - ) . ofal Weekly Wage pqa BT 1RT reading valoe from the L2
1840 LA comract values used =(6 % 9 = R17,76) + {9 = 1350% = B17,76) table
= E.]El.iﬁa - 1MA mmltiply with
=83% oR =R950.04 + R230,76 no. of days and
QR hours
=R1198 80 ~CA 1CA simplification
'
. 18301790 . 1 1M percentage
Bpmcreme=—"___  « 100% ¥M sed OR OR
* 17.00 1A comect values used 1016
—81 i . =
= S_: 2-1 e Total weekly wage 1RT reading valoe from the
= 8,3% oR A BT table
OF =(6 = 9 ~R1640) + (9 = 150% = B16.40) 1MA nmltiply with no. of
v - ] d b
B16.40 = 1.083 =R17.76 M 1M percentage =R1 107,00 ¥CA TE‘: mﬂ;ﬁ;caﬁun
S R T AR 1A comect values used 3)
QR 23 F
VA OR Total Income for the day IRT comect values L1
R17.90= 1,083 =R1838 +M 1M percentage =T«RMW+35«R50+4=R75 ¥¥ET vM 1M multiply price by vehicle
et cad type
OR 14 comect Vs used =R490 + R1 750 + R300
v A 1CA total income
R17.76 = 1,083 =R1640 ~ =R2540 ~CA
1M percentage
OR 1A currectc;';‘lues used OR OR
A
R19.30 1083 =RI1790 +M 1M percentage Income from bakkies =7 = BRTO=F420 1A bakkies
1A comrect values used Income from Cars = 35 « RS0 =R1 750 & 1A cars
_— 1 Income from minibus = 4 = R75 = R300 v A 14 mindbus
= 2.0
by |4 =«1083% = 2193 ~RT 1RT reading values L2 Total Income =R2 540 ~'CA 1CA total income
- A . AD
4= 1193 ; 1M dividing by 108,3%
R T Eh)
—R20.25 vCA 1CA amount
OR
vRT OR
=2 1_95 1RT reading valaes
LOES gy 1M dividing by 108,3%
=R2025 v CA 1CA amount
AD
)
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NOV 2018
Ques | Solution Explanation TopicL QUESTION/FRAAG 2 [41 MARKSPUNTE]
2.4.1 | Employer provides people job/work for pay F QY'Y | Solution' @plessing Explanation/ Verduideliling | T&L
OR w0 Ll 211 A F
) o Interest refers to the amount that will be added to an Ll
E.:uplu:ﬂe; s the company/individual who offers work . ] account that is not settled yat / vA
oppormnities for pay. 20 explanation Rente verwys na die bedrag war by die agrerstallige
aR bedrag gevoag word.
Employer owner of the company « 0 2
e : £ = OR/OF
= ¥0 w0
Get a few months reduced income after termination of L1 . YA vA
work Exfra amount is charged on the late payments /
OR ) Ekstra bedrag wat gehgf word op laar betalings.
To give employee a short-term financial relief should | 20 reazon
he'she become nnemploved. « 0 OROF
Maks provision & - b reon b A VA
ake provizion for some income when a person becomes ; 1 i g
nnemploved or retrenched or retired from work. 2 Exira maney to be DF overdue fees
143 BT =Y 18T amounts Ekstra geld war op agterstallige gelde gehel word.
(a) |[B=R6272,16— (Rl 184,40 + R350,38) 1M subtracting F 1A amount charged
=F4 736 88+CA 1CA value of B Ll OROF 1A reason
M v A A
OR DF: Money charged for not paying fees on time /
I - BT 1E.T amounts 4 y S e R -
B=bagzad0103 1 multiplying =1l Guld gehglHar foote nie betyds betaal nie.
=R4 736,328,008 valuas
1CA value of B OR/OF
Accept B = A
(B5 131,62 Interest in this context is the charge levied becanse of
If 26 days used) unpaid fees or late payment of fees /v 4
[E)] Dt is ekstra geld war gehelM word omdar die rekening
243 | 1% of gross salary =F&§ 272,16 - B8 200,44 ~NA 1MA subtacting E nie op (vd betaal word nie.
&) =R4§2,72 «~A comect values La
1A simplification 2
Total ULF amount = 2 « B62,72 F
=RI11544 vCA 1CA toml amonnt 212 |R14 819,50 +~¥ET IRT balance L1
payable
OF OF e
e TA e vET F
Total UTF amoust =2 = (1% of RS 272.16) 14 calculating 1% 113 | 14820 100, IRT comect values L2
=1« R62,721 T ! 1M multipty by 100
=RI2544 vCA 1MA4 2 conmibutions 1481950 1 ey
OF
1CA amount _ - -
Total UIF amount = 2% of R6272,16 ¥ MA OR - llal?nmﬁziﬂnﬂz' ' ICA answer i
=R12544 . ) (33
viCA IMA Calculating
2% of salary
1CA amount
AD
3
[44]
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Qv

Solution' Oplessing

Explanation Ferduideliking

T&L

Q'F | Selution' Oplessing Explanation' Verduideliking T&L
T 1ET code F
214 | APG 2039W Design & Theory Smdio T ¥ 2T 1ET names L1
[ APG omitted = full marks |
@
F
215 vERT 1E.T comect valies L1
R14 947,70 - B8 650,00 M 1M submracting deposit
=R6 317,70
]
AD F
2.1.6 | Total smount / Totale bedrag BT v M L1

=F3 030+ B3 030 + B2 280 + B2 280 + RO 580 +
B4 530 + 20 460 + B2 087 + R305,05 +
R30505

=E57 06880 vCA

OFROF

Total amonnt  Totale bedrag

M vERT
=R62 594 —R6 317,70 + 2 = B39595
=E57 06890 «~CA

OFOF

Total amount / Tetale bedras
+RT v M
F40 386 + B23000 + F.E650 — R.14819,50 -

E.148.50 = R57 068,90 v Ca
ORAOF

Total amount / Tetale bedras
BT M
B3 030 +R3030+F2 280+ F2 280+ RO 580 +
F4 530 + B29 460 + B3935 93 + R.39593
=P34 05190 «CA

ORAOF
Total amount / Totale bedras
M v RT

=RA2 504 —R& 317,70 + 2 » R39595 — B2 087

=F54 08190 ~CA

ORAQF

1RT reading all comect valoes
1M adding values

1CA simplification
OR/OF

1E.T reading all comect values
1M submracting valoes

1CA simplification
OR/QF
1E.T reading all cotrect values

1M submracting valoas
1CA simplification

OR/OF

1E.T reading all commect values
1M adding values
1CA simplification

OR/QF
1E.T reading all cotrect values
1M submracting valoas
1CA simplification

QRQF

Total amount / Towle bedras
+RT v M
P40 386 + B23000 + F.B650 — R14819.50 —

148,50 — B2 087 =R54 981,90 vCA

AFRIKAANS VEAESTEL:
BT M
RI14820 + 3030 + R3030 + R2280 + R2280 +
F2580 + R4530 + 29460 + R2087 + R305,95 +
RE38585=R57217.10 ¥CA
OROF
vET M
F4D 386 + 23000 + BE650 — R14810,50
=R57 217,10 v'CA
OROF
M “RT
R62 504,70 - R6317,70+ 2 x R395.05 +
R148.20
=R57 217,10+ CA
OROF
BT M
R14820 + R3030 + R3030 + E2280 = R2280 =
RO580 + R4530 + R20460 + 305,05 + B305,05
=R55 130,10 ~CA
OROF
BT M
R0 386 + R23000 + REAS0 — R14810.50 -
B2 087
=R355130,10 vCA
OROF
+ M BT
R62 584,70 —R6317,70 + 2 x R39595 +
R14820 - B2 087
=R55130,10 ~CA

1RT reading all comect valuoes
1M subtracting valoes
1CA simplification

1RT reading all comect values
1M adding values

1CA simplification
OFRQF
1RT reading all commect values
1M subtracting valnes
1CA simplification
OFR/OF
1E.T reading all commect values
1M subtracting values
1CA simplification
QRAOF
1E.T reading all comect valnes
1M subtracting valnes
1CA simplification
OFROF
1E.T reading all commect values
1M adding valnes
1CA simplification
OFROF
1E.T reading all comrect valuies

1M subtracting valnes
1CA simplification

(3
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Soelution' Cplossing

Explanation Ferduideliking

Direct deposit / Direkre deposite v+ BT

BT reading comrectly

[ Accep: deposit only |

()]

Solution' Oplessing

Explanation Ferduideliking

Monthly instalment / Waandelikse pasiemaent
B40 386,605 « 4

v M
=RE 077,32

OFOF
Monthly instalment / Waandeltkse pasiemant
BEO77,32 x5 A
+ M
=F40 386,60
OR/OF
Monthly instalment / Waandelitse paaiemaent
R40386,60 M
REOTT 32

=5 A

14 calculating 5
1M dividing by 5

QRAF
14 calculating 5
1M mmltiply by 5
QRAF
1M dividing comect values in
correct order

14 calculating 5
2

F0.30 ORA0F 30c v+ ET

IRT correct value

Accept 0,30

If the candidates only
wrote 30 = max 1 mark

=
i

T
R557,00-R418.00 ¥ RG
=RI13000 «C4

AQ

1RG comect amount

1M subiracting

1CA simplification {one of the 2
values must be commect)

[

[}
(=]

W
Inflation is 2 measure of mteé-}whjch the cost of zoods
is changing over a period of time and is usually
expressed a5 a percentage | ¥
Inflasie iz die meting van die koers waarteen die pryz
vign goedere verander oor ‘m vdperk en word
gewoenlik uitgedrul in persentasie.

OR/OF
v A

The percentage increase of the food prices over the
period 1970 - 2015 /v A
Die persentasietoename van kospryze oor die tydperk
1970 - 2015,

OR/OF

vl WA

Parcentage increass of price over a period of ime
Persemtasie verhoging van prys oor i tydperk.

OFAOF
v A A
Inflation is the rising price of geods/items over time
Inflasie is die stypende prys van goedere/dienzte oor
fyd.

1A percentage increase
14 time

(2

Percentage change / Presentasieverandering

vRT
5 —_ 5
R75.00 ~R0J5 100, op
R0.25
=10000% ~CA
QR/OF

Percentage change / Preseniasieverandering

+ET
ik ¥ 100% = 30 0000
—_— Ao =2 el
0,25 v
Therefore %o increase = 30 000%: - 100%:
=20 0008 vCA

AQ

1ET all correct values
15F substitute correct values
ICA comect percentage

OROF

1E.T all comect values
1M subtracting
1CA comect percentage
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Q. Solution Oplessing Explanation Ferduideliking T&L 'V | Solution Oplossing Explanation Ferduideliing | T&L
AD F F
125 | Cost price / KEosprys L2 2.3.2 | Budget is the proposed way in which money will be L1
100 10490 . pqa 1MA multiplving correct values spent on different items
ﬁxT Begronng is die veorgesielde manter hoe die geld wir
’ 14 apswer verskillende items gespandeer behoort te word. a
=Rga 2z VA -
OR/OF OROF OROF
Cost price / Eosprys Al Bow . S
104.90 s IMA dividing corect values p an u1.1. maoney is going to be spent on
1175% in the comect order estimated mcome
=psazz YA 14 apswer ‘n Plan oor hoe geld op beraamde inkomsre bestee
gaan ward. s
OR/OF OROF OR/OF
. .
Cost price / Kosprys e 24 definition
104,90 +MA IMA g.mdmg CoTTect 'j'“l“'s A plan in how money is going to be spent
L1735 i the comect order 'n Plan hoe geld uitgegee / spandesr gaan word. - 5
=R2028 w4 . :
1A answer OROF
OFAMF
OROF Financial plan how to spend money/ finance
(n_st_pu'ice { Eosprys Finamsidle plan hoe om geld / finansiering e
173 . mi0a90=R1562 spandeer. '+ 4
1175 1MLA multiplying and subiracting
R104. 00 -R15.62 vMA cormect valnes OF/OF
=R8928 «»a 1A answer
ey} Estimated income and expendimre of money 0
- ; - T 7 =
wry T ws katte inkomste an witgawes van geld. < 8 E
] A g ') 5 1
231 |B OROF E141600000000- 4 24 comect valus 0 Ll 2.3.3 | 5kills development levy instimtons IRT cormect sactor L1
— Faardipheidzontwikkelingheffingsinstellings ' RT (2
F
13 4 | Percentage of the total education budzet L2
Parsemtasic van die torale onderwysbhegroting
*REGET IRG/ERT correct values
15_3 . . . s 7
2= % 100% ey 18 mmltiply by 100
3205
=478 vCA 1CA answer
Parcentage of the total education budget
Persemtasie van die totale onderwysbegroting
v; RGET
wx@ué M IRG/ET comrect values
R320500 000000 1 1M mmaltiply by 100
=477 +CA 1CA answer
NFE
(3
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NOV 2019
Solution' Gplossing Explanation Verduideliling | T&L QUESTION/FRA4E 2 [42 MARKS/PUNTE]
AOQ F Q/F | Solntion/ @plossing Explanation' Ferduideliting | T&L
Education Administration plus NSFAS amount L2 F
to 31,1 billion rand /- 211 | Marke: value Markwaarde L1
Onderwysadminusrasie phus NSFAS bedrag — BO44 630,00
tot 31.1 miljard rand Mine hundred and forty four thousand six hundred and thirty
97 A rand. VYA o ) 24 comrect value in words
Accept any estmation from 9.5% but less than 9,86% 34 comect estimation Negehonderd vier en veertig duisend ses honderd en dertiz | NpU
Aamaar enige skatting vangf 9,5% maar minder as ramd.
0.55% 2)
F
ORAOF ORAOF 212 | Amount of VAT/Bedrag vir BTW L1
15:3_‘: 15,3 =311 billion " mifjard M 1M adding values R236,02 = B, Ma IMA corect value x -
=0.T% w4 . ) _ 14 estimated value - 100 o100
Accept any estimation from 9,5% but less than 9,86% =R12540 wCa 1CA simplification
Aamaar enige skatting vangf 9,5% maar minder az
0.85% £2) OR/OF ORAOF
[ RE3602 = 1,15 WA IMA comect valne = 1,15
=R9461 42
F9§1,42 - R836,02
=RI12540 ~ca 1CA simplification
2
F
21.3 | Litres/liter OR/OF [ v vA 24 comect nnit Ll
2
F
214 | Monthly sewer charge/Mamndelikze risohverwyderingskoste Ll
A=R378905 A 2A cormect charge
(]
F
2.1.5 | Total water charge Totale water kosre L2
A “BT IMA identify 4, 4, 2
B = (6 = BE,28) + (4 » RE.79) + (2 = R15,00) IET identify R8,28; B8,7%;
R15,00
=R4068 +R3516 + R30,00 v M 1M adding {at least 2 corract
=RI114384 v CA walues)
1CA simplification
)]
F
221 | Inverse proportion/Omzekeerde eweredigheid v Ll
OFR/OF 24 type of proportion
Indirect proportion (fndirekie eweredizheid (2)
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Q/F | Solntion' Oplossing Explanation' Ferdnideliking | T&L
F
IZZ2 |6 wvA 24 commect number L1
2
F
223 | Amount per person/Bedrag per persoon 11
BT
_ B3000,00 1E.T correct cost (B3 003)
T WA 1MA dividing by 7
=R428357 ~CA 1CA simplification
3
F
224 | E17000,00 1MA dividing by 500,00 L1
———— M4
® £500.00 1CA simplificat
= 34 months/magnde ~ CA simplincaton
AD
)
F
114 | Interest rate/Rentekboars L1
) 24 commect interest rate
=§30% v+vA
2
CA from Question 2.2 4 (b) | F
114 | Interest for 1 yearRente vir I jaar L2
(=T . 230
RI700000= -0 M 1M interest calculation
Interest for 3 yearsRente vir 3 jaar
=R141100x3 R )
=R4233,00 /CA i;ﬁ; SJm:EIllﬁEB.tIU-D
=F4200,00 vE rounding
ORAOF OFAOF
Interest earned for 3 years /Rente verdien vir 3 jaar
q B30 . )
R17 000,00 = ﬁ =3 v 1M interest calculation
=R4233,00 «CA 1CA simplification
=FR4 200,00 vR 1E. rovmding
3]
F
224 | Percentage point difference/ Persentasiepunte verskil Ll
(d)
8.46% — 7,76% BT 1RT cormrect values
=0T% «CA 1CA simplification
AOD
2

Q'V | Solution, Oplossing Explanation'Ferduideliking | T&L
+RT F
2.2.4 | 1§ months/maande 1R.T reading from table Ll
(e} A A 1A mumbeer of years
=1 year and § months'] jaar en & magnde 1A mmbrer of months
AD
3
vRT F
231 | R242 700 million/mifjoen « A Ll
1R.T comect value (2 427)
OF/OF 1A mumber in millions
BT NFU
F242 700 000 000 4
@
F
2.32 | Total income received/ Torale inkomste onfvang: Ll
1370 +2427+ 1803+ 31,5 A 1MA adding ALL correct
wvalues
A=18245 ~vCA 1CA simplification
NPU (wrote billions or
rands)
AOD
2
F
233 | Other' dnder L2
¥ET 1R.T reading cormect valies
1823,72 — (278 4+262 4+222 6+211 0 +209 2+208,5+
02,2+112.T) v M 1M adding all the values
B=182372-1707 v M4 1WA sobtracting from total
=116,72 «CA 1CA walue of B
NFU
)]
F
2.34 | Community development' Gemesnskapsonrtwikheling L2
<BT
B208,5 1RT both correct valoes
= R182372 * 100% M 1M percentage calculation
_ AIET 7
=1143267607% v CA 1CA simplification
ACCEPT ONLY FOR AFRIEAANE CANDIDATES:
Social development/Maatskaplibesontwikkeling
2278 ; RT 1E.T both cormect values
=——  w100% «M 1M percentage calculation
B1823,72 1CA simplification
=1526550128% v CA NFE
3
[42]]
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Q'Y | Solutien @plossing Explanation Ferdnideliking | T&L
322 M
1 mi flour=0,7 z flour / I mf meel = 0.7 g meal L2
625 ‘ersi
%07z ¥C 1C conwersion
=4375g vA 1A simplification
(2
323 M
C={"F-32")+ 18 L2
C=(356°-317) + LB ~5F 15F comrect substitution
SC={324"+ 1%
=180°C A 1A simplification
2
[19]

QUESTIONFRAAG 3 [18 MARKS/PUNTE]
VF | Solntion/ Oplossing Explanation Ferduidelifing | T&L
M
311 |5+ 1Tm+ 19 +21om «A 14 sdding of correct values | L1
=T2cm = 10 vCA 1CA comversion
=T mm «CA 1CA znswer in mm
3)
AD M
3.1.2a | Diameter / Deursnee = 2 x radius L1
=2=14mm M 1M multiplying by 2
=78mm A 1A dismeter
53]
AD M
3.1.75 | Volume of a cylinder = % r® x height L2
Folume van 'n silinder = x = r? = hoogte
Vohone of a cylinder = 3,142 x (14)? = 15 cm «'5F | 15F subetitution
=3142x 196em® X 15cm +5 15 squaring 14
=023748 cm® vCA 1CA simplification
3)
313 M
The perimeter of a shape is the total distance around L1
the edzes defining the outline of that shape / « w4
Die omirek van n vorm is die totale qittand om die
sye wat die witleg van die vorm dgffnieer.
ORAAF 24 explanation
Total distance around the shape / Totale qfttand
rongdom ‘i voorwerp A
53]
314 M
Ares of a rectangle = length « width Lz
Area van n reghoek = lengre = broadie
=15cm=12cm «5F 15F comect substitntion
=180 cm® +CA 1CA simplification
35m=33am=1155cm’
Max 1 mark
2)
321 ) M
Amount / Hoevealheid in kg =35+2,725 ~C 1C conversion L2
=1.556 r 14 simplification
Accept 1. 56 kg ;
l6kg
1.5 only =0 marks
ey
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QUESTION 3 [15 MARKS]
Cues | Selution Explanatien TopicL
vRT vRT vRT _ vRT M
3.1.1 | 6 months to 2 years. OF. (% year to 2 years) | 2RT age Ll
OF. § months to 24 months Accept 23-24 months
+ET BT [
312 |8kg »vRT 2ET mass'waight M
|11
3.1.3 | 12 months to 15 months - pT IET (one age in this range) | M
(|11
3.1.4 | Febmary .8 XAcomect month M
2| L1
315 =1 I M
: myp = ot (0 kg £
(hezght m m)* o ==
1.2 15F comect values
105kgm'=——= ¥ 5F
(height m m)* 1M new subject
M s 1M finding sq. root
Height= [——= + M
£ o=
V182 1CA simplification
= 0,758m v CA AO
4
3z 55 [R5 r by B
321 | Distanca = 222 | 100 km v MA IMA multiply by M
7.6 limre 448 10a L
IMA divide by 7.6
= 713,48
#724km 'R 1R distance
AD
(3
322 f@ 1C to hours M
. _ s 188 15F correct values L2
Averagesped =gy © Live
=108 km'h «~Ca 1CA Average speed
AOD
(3
331 | . + 5F M
Volame = 53,34mm = 17,78cm » 42,32 cm 15F comect substitotion L3
s . 1CA volume
= 4013566 cm’w CA
TMA divids .
4013366 _ IMA dividing by 1 000
1000 pea
=40 litres v B IE. volume in litres
4
331 31 YA 14 numerator F
Pa 7 B, 1A denominator =
=075« CA 1CA decimal
AOD

[25]

QUESTION/FRAAG 3 [18 MARKS/PINTE]
QUF | Solntion Oplessing Explanation Ferduideliing | T&L
M
311 |5+ 1Tam+19am+21lcm 4 14 adding of commect values | L1
=T2cmx 10 vCA 1CA conversion
=TXmm ~CA 1CA answer in mm
(3
A0 M
3.1.2a | Diameter / Dewrsnee = 2 = radins L1
=2x14m M 1M multplying by 2
=28m A 14 dismeter
23
A0 M
3.1.7b | Volume of a cylinder = ® +% = height 12
Folume vam 'n silimder = = p7 = hoogte
Vohune of a cylinder = 3,142 ¥ (14)% = 15 cm +'5F | 15F substitution
=3142 % 106em® x 15cm +5 15 squaring 14
=023748 em? ~CA 1CA simplification
(33
313 M
The perimeter of a shape is the total distance around Ll
the edges defining the outline of that shape [+« 4
Dig omtrak van 'n vorm is die totale qfftand om die
sye wat die uitleg vam die vorm dgffnieer.
ORAQF 14 explanstion
Total distance around the shape / Totale qftvand
rondom 'n voorwerp v A
(23
ERE M
Area of arectangle = length = width L2
Areavan n reghoek = langie = breadie
=15cm=12cm +SF 15F comect substimton
=180 cm® +CA 1CA simplification
35m =33 am=1155 e’
Max 1 mark
2
321 ) M
Amount | Hoeveelhaidinkg =35+225 ¥C 1C conversion L2
=155 A 1A simplification
Accept 156 kg ;
Lékg
1.5 only = 0 marks
[1£4]

8l|Page



EC CURRICULUM: MATHEMATICAL LITERACY BOOKLET 1 OF 2020

Q Solution' Oplossing Explanation'Ferdnideliking | T&L
322 M
1 mE flour = 0,7 g flour / 1 mf meel = 0.7 g meal L2
625 ‘eTSi
1 x07g ¥C 1C conversion
=4375g vA 1A simplification
2
323 M
*C=(F-327)+ 18 L2
C=(356°-3217) + LE¥5F 15F correct substitution
*C={3247+ 148
=180°C A 1A simplification
(2
[15]

=50cm ¥ 50cm «5F

=2 500 cm?
Area 0f 12 blocks = 0,25 m? = 12 «MA

=3ml./(~A

OR/OF

Area of one block = length ¥ breadth
=05m X 05m «5F
=0,25m?

Area of 12 blocks = 0,25 m* x 12 vMA
=3im?® ,ca

OR/OF

15F substituting correct
valoes

1MA multiply by 12

1CA answer in m’

OR/OF
15F substituting correct
values

1A multiply b}'112
1CA answer n m”

OR/OF

NOV 2019
QUESTION/FRAAG 3 [26 MARKS/PUNTE]
Q'Y | Solation/Oplessing Explanation' Verduideliiing | T&L
M
3.1.1 | Volome = It is the amount of solids or liguids an object can L1l
take/hold.
Folume = It die hoeveelheid vaste af vioestowwe i
voorwerp kan var. v A 24 explanation
OFA0F
Volume iz the amount of space occapied by an object
Folume is die hoeveelheid spazie opgeneam deur dic
VOOrWErD.
b @
M
3.1.2 | Volume = side = side = height'sy = 53 = hoogte L2
~C 15F comrect substifution
=05m=05m=~008m ~5F 1C conversion
=02 m® vCA 1CA simplification
OF/QF OF/OF
20 000cm” *5F
1000000
- 50 8 1 5F comect substifwtion
S = S = o 1C conversion
=002m" vC 1CA simplification
ca ()
CA from Question 3.1.7 M
321 | Area of one block = length ¥ breadth L2
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Solution'Qplessing

Explanation Ferduideliking

=
=

Solution'Oplessing

Explanation Ferduideliking

Ares of 12 blocks =12 = (side = side)

Areavan 12 Bokke =12 ={05m =0.5m) +5SF
=12x025m" vMA
=3im’ vca

OR/OF
Area of 12 blocks =12 = (zide = side)

Area van 12 blokkbe =12 = (50 cm = 50 cm)+ 5F
=12 = 2 500 cm® » LA

15F substituting cormect
valoes

1MA multiply by 12

1CA answer in m’

OR/QF
15F substituting comrect

values
1MA multiply b:,-112

[
[

(Y]

Area to be covered with pebbles

«5F .
(405 cm = 145 cm) — 30 000 o’

15F substitution

405 cm = 145 cm

=58725cm® vA

Area to be covered with pebbles
=58 725’ - 30 000 e’ v niCA
=28725 em® op

OROF

=3m’ CA 1CA answer in m”
3
CA from Question 3.2.1 M
32 Ares of walkway L3
FEF 15F substitution
405m=145m
=58725m v A 1A simplification
Area to be covered with pebbles
=5,8725 m'-3m +MMCA 1MCA subtracting area of
=28725m’ o blocks
1CA simplification
OFR/0OF OFR/QF
Area to be covered with pebbles
+SE \ 15F substitution
405m=145m) —3m 1A simplification
A 1MCA subtracting area of
=58725m' - 3m® wMCca blocks
=128725m’ A 1CA simplification
OR/OF OFR/QF
Ares of walkway 15F substitution
«'5F

1A simplification

1MCA sobtracting area of
blocks
1CA simplification

OR/QF

1A simplification
A . 1MCA subtracting area of
=58 725 cm’ - 30 000 cm*vMCA blocks
=28725am® vca 1CA simplification
NFR
(53]
M
32 57 m' L2
- — LA R - T
036 o 1MA dividing by 0,36 m
=15833 ~CA 1CA simplification
= 16 bags of pebbles/sakiies EHippier vRCA 1RCA rounding
(3
33 Length of large window frame/Lengte van die groot
VERSTErTaan
1MA dividing by 10
Eﬁ;;nm MA riding bry
=80 cm vCA 1CA simplification
AOD
2
33 Perimeter/ Omirek
vMA 1MA adding 4 sides
=185om +185cm +18,5cm +185cm 1CA simplification
=T4mm ~CA
OFR/OF OR/OF
Perimster' Omirek
=4=185cm +MA 1MA side multiplied by four
=T4om v CA 1CA simplification
AFRIEAANS ONLY OMIT SUE QUESTION 3.3.2 =
UPSCALE FROM 24 T0 26 (]
M
33 Diameter/Deursnes = 1,85 om = 2 L2
=37m «~a 1A diameter
18,5cm
37em “M 1M dividing by dismeter
=5beads ~CA

1CA simplification
)]
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o=

Solution'@plessing Explanation Ferduideliking | T&L

[F¥]
[F¥]
g

“MA

3 1MA multiply 18,5 by 2 L2
2+ 18,5 cm =  of the widih of the large window/van die muliply ¥

wydie van die grooter venster
v A 1A simplification
3Tom= Y of the width of the large window/van die

wydie van die grooter vensier

Width of large window. Breedte van groot venstar

=37 cm = % < WMA 1IMA multiply with inverse
=4833 am o 1CA simplification
NFE
)
[26]
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MAPS, PLANS AND OTHER REPRESENTATIONS OF THE PHYSICAL WORLD

NOV 2017
QUESTIONTRAAG 4 [14 MARKSTPUNTE] Q'F | Solution Oplossing Explanation Ferduidelifing T&L
Q'Y | Selution' @plossing Explanation Verduideliking T&L MP
MPL 422 | Rivier Street / Rivierstraar + " BM IEM correct road L?
41.1 | South West OF 5W 2A direction 2 fied}
Suidwes @F 5 A (2 MP
423 | Debs-Lodge /| Debs-Lodse ~ +EM IBM correct road L3
MPL (2)
4.1.2 | MNemagua National Park IFM national Park 1 MP
! Nasional B (2 2 23 I L2
Namakwa Nazionale Park (2) 424 Time / Tvd = 2.34km S5 15F calculating time ==
P : 40kmh
«+RM +BM ! e ncae . . e
413 | Keimoes, Kakamas, Pofadder IRM first correct town 1 Zooh v vC gfﬁiﬁﬁz_ﬁn
(Any 2 of the 3/enize I van die 1) 1EM second comect town =301 mimites < CA NFR :
3 ) .
MP 2l
414 f;a.‘:: scale OF number scale OF numerical S L1l 425 » 13 vA 14 numerator (indepandent) L2
a A ] =— ORAQF 0310 ORARF 31% ]
Ferhoudingzkaal OF nommerskaal OF |_-!|.cceptu:1i'. ratio | 41 vA 14 denomunator
getalskaal WA
o OR/OF OROF
A MPL “MA ] .
y . IMA subtracting from 1
4.1.5 | Measared distance /Gemere giitand = 135 mm | 1A measures distance k3 . K o, SHULACHNE hom
2 1— —=— 1A simplification
1:3007874 47 47 A )
3I5mm % 3007874 M 1M using scals 4]
= 404 062 200 mm
_ 406 062 290
= Tomomm  “C 1C conversion
_ 1E to the nearest km
=406km VR (Range: 130 mm to 140 mm)
ORADF .
/A OR/QOF
3.5 = 3 00T BT M .
13,5 cm x 3 007 874 v 1A messures distance
40606299 cm . 1% nsing scale
“1oooo0 T c 1C conversion
= 404,06299 km
1E. to the nearest km
- +E .
406 km (Fangze: 13 cm to 14 cm)
4]
MPL
4.2.1 | Voorirekker Road /! Feortrekberstraar + + BEM 1
OR/OF IFM correct road
H14 ¥vEM (]
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QUESTION 4 [10 MAREKS]

Crues | Selution Explanation TopicL
YA YA - MP
411 | N10 and N2 LA NI L1
1A M2
Y
(2
< BT AP
41.2 | Mountain Zebra N P 2R Tcomect name Ll
)
413
Eirkwood vvA 2A comrect hometown MP
(23| L2
(2 2
+14 « BT v M
Distance =25 km + (207 km — 22 km ) + 24 km 1ET comect distances MP
1M adding L2
=234km A 1CA difference
OR OR
v BT » M 1ET comect distances
Distance =24 km + ( 380 km — 195 km ) + 25 km 1M adding
=234km + CA 1CA difference
AO
G)
MP
421 (3750mm ¥ A 2A distance L1
)
Total exterior length of western wall MP
422 |=3550 mm + 3750 mm.- 1A adding 3 comrect distances | L1
=T 30{) mm
=73m «C 1C conversion to m
OR . OR -
Total exterior lenzth of all 1A adding correct distances of
u:lﬂ...f:.en-:l_r _:l.gtl Q n_esbe:'n W Eastern wall (opp. Side /1)
=3,5m+], Tm+205m «4
=T,3m « 1C conversion to m
AD )
24 MP
423 | Living room. .+ & (Passage and'or Eitchen L1l
maximnm 1 mark)
I"!-':I
(2
MP
424 |Bedwom 2 v+ 4 2A room Ll
)
ey MP
4.2.5 | Wash basin/sink ‘'water basin OR Shower OR 2A any item L1l
Cuphoard )
[19]

NOV 2018

QUESTION/FRAAG 4 [24 MARKSPUNTE]
Q'Y | Solution' @plossing Explanation’ Verduideliking T&L
MPL
4.1.1 | South West OR 5W 1A direction 2
Suidwes OF 5« A 2
MPL
41.2 | Namagqua National Park 2FM national Park 1
Namakwa Nasionale Park * ¥ PM (2}
wvBM_ vEM MPL
4.1.3 | Eeimoes, Kakamas, Pofadder IFM first corTect town 1
{Any 2 of the 3/enige I van die 7) 1M second comect town
|:3]
MP
4.1.4 | Fatio scale OF  pumber scale OF numerical L1
scale 1A ratie / oumber [ numerical
Verhoudingzkaal OF nommerskaal OF [ Accept unis ratio |
getalskaal A
[}
¥ A MPL
41.5 | Measared distance /Gemete gfittand = 135 mm | 1A messures distance 3
1:3007 874
35 mm x 3007874 *M 1M nsing scale
= 404 062 200 mm
_ 406 062 990
= Tooom “C 1C conversion
_ IE to the nearest km
=408km VR (Fange: 130 mm to 140 mm)
OR/OF .
A OFR/QF
35 « 3 007 B74 v'M .
13,5 cm « 3 007 874 ~ 1A messures distance
40606259 cm . 1M nsing scala
100 000 vC 1C conversion
= 404 06299 km
1E to the nearest km
- v T ;
408 km (Famgze: 13 cm o 14 cm)
4
MPL
421 | Voorrekker Boad /! Feortrekberstraar « ' BM 1
ORAOF 2REM correct road
Ni14 ¥¥BM ()
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Q'Y | Solution' @plessing Explanation’ Ferduideliking T&L
MP
422 | Rivier Sweet / Riviersoraar ~ + BM IBM correct road L2
|"]]
MP
423 | Debs-Lodge /| Debs-Lodge + v EM 2BM correct road L2
(2
MP
P2 Lime g 2ER oo 15F calculzsting time L
: 40km'h
=0,0585h x 60 ~C 1C mulsply by 60
=35] minates +CA 1CA simplification
NFR
(3]
P
425 13 A 1A pumerator (independent) L2
P=Ff~‘t OF/QF 0310 0OBARF 31% 14 dsmominator
OR/OF OROF
V}L{Tg 3 1MA subtracting from 1
1— —=— 1A simplification
41 41 vA ]
4]

NOV 2019
QUESTION/FRAAG 4 [24 MARKS/ PUNTE]
Q/'F | Solution, Oplossing Explanation' Ferduidelibing | T&L
MP
411 | Camping, swimming, dining{eating) and checking-in L1
(enquiries/regismation/making payments).
Eagmpear, swam en eat an inboek
{navroeregizrasie/betalings maak). A A 4A 4 correct activities
5]
MP
412 | Umngemi «'+ BT 2E.T reading from map L1
2
MP
413 | 5 restaurants / pestauranfe ~ " BT 2R.T reading from map L1
)
MP
414 | Bar Scale/Staafikaal A 2A comrect scale L1
Agcept:
Line scale/Lynskagl’
Baikskaal
2
A 1A meazsure bar scale MP
415 [42m =4km 1M concept of scale L2
lem = 0,9524km «M IMA multiply by scale
A
=10om= 9524 km 1CA conversion
BI10km «CA
OF/QF
OFR/QF
il:lcm:ﬂkm"}{ 1A meazsure bar scale
2 am
“a *MA 1M concept of scale
=9.524km IMA mmltiply by scale
¥10km vca 1CA conversion
OF/QF OR/OF
A
21lcm =Zkm
lem = 0.9524km M 1A measure bar scale
WA
v 1M concept of scale
=10 cm ‘ffﬂzl': Em 1A mulsiply by scale
- m vCA 1CA conversion
OR/OF

OR/'OF

87|Page




EC CURRICULUM: MATHEMATICAL LITERACY BOOKLET 1 OF 2020

Q/V | Solution, Oplossing Explanation' Ferduidelibing | T&L
*RT vRT MP
422 | Bedroom 1, Bathroom and Bedroom 2/ 1E.T first room L2
Slagpkamer 1, Badtamer en Slagpkamer 2 1E.T other 2 rooms
ORAF ORAF
ONLY AFRIEAANS CANDIDATES:
BT BT 1RT bedroom 1
Slaapkamer 1, Kombuis 1E.T kitchen
[12)]
423 :
- 2
% OR/AQF 0 OROF 0% L2
- 2A probabiliny
OR/OF VA
Impossible’ Prmoontlik o)
[24]

Q/F | Solution’ Oplossing Explanation' Ferdnidelibing | T&L
4.1.5 0 oM 1A messure bar scale
cm
211mx2h:|1 vMA 1M concept of scale
v A IMA mmiltiply by scale
=8.524 km o
%10 km «CA 1CA conversion
Accept 4]l cm— 4.3 cm
Accept 2am - 2,1 cm
(]
) MP
4.1.6 | Total distance/Tomale qittand L3
=10km = 2
=20km fhi;;]m 1MA total distance (20 km)
Time'fyd = ———— «'5F
30km'h 15F correct substitution
¥C
Time/tyd = 0,66666656667 hours = 60 1C comversion
= 40 mimates/ minuig « CA 1CA simplification
OR/OF OR/OF
Timeid = 10km “SF 15F comect substitution
30km'h
=03333
<
- In mimmtes/minute = 0,3333 = §0
=20 minmtes‘minute ~ MA 1C comversion
- Total time/Totale g = 20 =2 IMA simplification
=40 minutes/minute ~ CA 1CA simplification
(&)
MP
421 19 vva 24 mumber of doars L2
5]
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DATA HANDLING
NOV 2017

QUESTION/FRAA4G 5 [35 MARKSPIUNTE]

work
nn Persoon war geskik en gewillig iz om te werk, maar nie
nwarkbynie. w oA

ORAOF

24 explanation

QUF | Selntion Oplessing Explanation' Ferduideliking | T&L
511 D
B2 085 600 000 « «RT 2RT comect amonnt L1l
OR/OF Table valne = max 1
mark
B2 085 6 million / miljoen ~ ~RT
OR/OF
B2 0856 billion / miljard + ¥ BT
2
512 AD D
BT L2
Rl 323+F2 0856 +B3 162+F2 158+F1 847+EF2 732 | 1RT comect valnes
6
v M 1M concept of mean
million | miljeen
“CA
=FR2 217933 333 OROF 1CA simplification
B2 217.933333 million / miljoen NFE .
(6]
513 D
A A 14 cu]_':'ect valne L1l
Maximum = 44,1 thonsand | duizend LA umat
OR/OF OROF
Maxi = 46 100 * BT 2R.T comrect maximmm
(1]
514 AO D
1ET comect values L2
“RT 18 multiply by 100
A= 2 158 000 000 w 100% A 1CA simplification
™7 3 441 000 D00 000 1 1E. rounding
=0,062714327% ~CA — —
=0,06% «E
max 3 marks
o]
521 D
A person who iz abla snd willing to work, but cannot find L1

QF | Solution' Oplessing Explanation Ferduideliting | T&L
People who are without work / Wens war zonder werk iz
o
ORAOF
People who are jobless / Wense wat werkloos iz« v A
24 explanation
ORAOF
Mot eamning a salary / wage | income
Ferdien nie 'n salavis / loon / inkemste nig ¥~ A
ORAOF
Remenched / 4fredank w8 @
522 D
X=1748 —506 *M 1M subtracting commect vales | L1
=1242 A 14 simplification
ORAOF
1M subtracting correct values
M 14 lificati
X=16172-(1 301+ 806+ 4 201+ 2 513+ 1 417+ 321 + simplinicarion
3 407
=1742 ~A e Mo penalty for
B inchiding zeros
(]
523 D
Questionnaire /vraelys w4 L
ORAOF
Survey / opname -4
ORAOF
Population census | populasie Sensus  « « A
2A coTrect answer
ORAOF
Document analysis / dokument analize ¥ v A
ORAOF
Interview [ onderhoud '« A
(]
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EC CURRICULUM: MATHEMATICAL LITERACY BOOKLET 1 OF 2020

Percentage of people / Persentasie mense

{\RT
1412000 100,
4507000 1

=31320% ~CA

1RT using both comrect values
1M percentage calculation
1CA simplification

If omitted zeros
= full marks

NFE

{3}

Solution' Oplessing

| Explanation Verdnideliking | T&L

wlo

[
=

Do not mark this question.

Mopenie hierdie vraag merk nie.

Ln
ba
LA

«RT
16 172 000 - 5 882 000
2,7494:1

1ET both comect values
1A ratio in unit form

()

ba

AD P
52 3wva 2A numerator L3
0.wA 1A depominator
1 1CA simplification
== +CA
3 ':4]
[35]
TOTAL: 150

Ln
[o%]

BT
697 000

1893 000 +RT
=0368 ¥ CA

Probabilisy (NEA) =

OFOF

vET

697 000
13475000 ~EI

=0,045+CA

Probability (NEA) =

AFRIKAANS VRAESTEL

BT
1196 000
1893 000 +RT
=063 “CA
=06

Probabiliry (NEA) =

OFROF

BT
1196 000
22054 000 RT
=005 +CA
=01

Probabiliry (NEA) =

AD
BT cormrect values

1CA simplification

OFR/0F

BT cormrect values
ICA simplification

OROF

BT correct values
1CA simplification

OF/0F

BT correct values

1CA simplification

| I omitted zeros = full marks |

NFE

{3}
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FEB 2018
QUESTION & [AIMARKS)
Ces | Solution Explanation TopicL
D
5.1.1 | Mumerical «vA 24 answer L1
)
D
512 | 50% A 2A answer L1l
)
FRange = Maximum - minimum g 1M range concept (can be implied) (D
513 L2
34=80-F «vET 1E.T comect values
1CA simplification
F =20-34
=56+CA AQ
]
R D o _
Median % = — M 1M concept of median D
_ - 1A median L2
= 68 a4 AD
{2
Intar-quartile range = 3 - Q) «' M 1M IQF. concept{mmplied) D
515 ‘.
Inter-quartile range = 70 — 20 «RT 1RT comect values L
=50 « CA 1CA simplification
A
(3}
D
514 66 A 24 mods L1
I"!}
{2
D
5.1.7 \ _ summ of the merks L3
Mean =
tofal mumber of lesmmers
A 1WA mean concept (Implied)
247 + 1A adding values
0= 1741+H SMA
26
1820=1741+H
- 1CA value of H
H=T0+CA AQ
G)
, P
518 |p _=£v'.-". 1A mumerator L3
T A 1A denominstor
1
=7 «CA 1CA simplification
A
G)

Ques | Solution Explanation TopicL
521 RLA D
Q= 288912+ 303 054 + 04 552 + 192 933 + 450033 + | 1MA adding a1l Non- L1
190 904 + 575 371 +312 273 + 372080 literate aduls
= 3 180 118 vCA 1CA Simplification
OR OFR
v LA 1MA subiracting Literate
Q=15353036-12172919=3180 118 vCA from Total
1CA simplification
AQ
)]
522 ] < BT i§ ]
9 literzte = & : }D - 100vM 1.31' mumerator and L2
1 ] denominator
1M multiply by 100
B 793 +CA 1CA answer
AQ
OR < BT 1ET mumerator and
_— _ 3160 118 denorninator
% literste = 100 - [ —— x 100) v 151 smitpty By 100
& 100 - 20,71
703 »wCA 1CA answer
NER 32
523 D
Mon Literate: Literacy L2
=650033:1 956407 BT 1ET both values
_ 650033 1955497
TE0033  asp03s v A 1MA ratio in correct order
=1: 3009842577
#1:3or1:301orl: 3080 + CA CA unit ratie
KPR
[E]
514
o IMA amanging D
244 282; 609 029; T60 &29:'-‘&5‘4?: 022 171; 1 120 567; L1
1762 484; 1 956 407; 4 013 443 2
(Descending 1 Mark;
Omitting 1 value 1| mark)
525 D
Northern Cape (NC) v A 24 cormect province L1
4]
[31]
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NOV 2018

LYt = SRMUDEUE WIUSUCISUCT

QUESTIONTRA4E 5 [35 MARKSPUNTE] QF | Solutiow' Gplessing Explanation Ferduideliting | T&L
QF | Solution Oplossing Explanation' Verduideliting | T&L People who are without work / Mens war sonder werk is
511 D A
B2 085 600 000 « BT 2RT comect amount L1 OROF
OR/QF Table value =max 1 People who are jobless / Mense wat werkloos is «" v A
mark 24 explanation
B2 085,86 million / miljoen "+ RT OROF
OR/OF Mot eamning a salary / wage | incomea
Ferdien nie n salaris / loon / inkomste nie ¥+ A
B.2.0856 billion / mifjard ¥ ¥ ET
22 OR/0F
512 AD D
BT L2 2)
Rl 323+R2 0856 +R3 162+R2 158+R1847+R2 732 | 1R T comect vames Rewenched / Afgedank 4
6 M . 5212 D
1M concept of mean X=1748 —506 "M 1M subtracting correct vahies (L1
million | miljosn =] 247 ~+A4 1A simplification
< CA
= B2 217 033 333 ORAOF 1CA stmplification OR/OF
B2 217933333 million / miljoen NFR M 1M subtracting correct valies
— Gl = X=16172— (1 301+ 806 + 4001+ 2 513+ 1 417+ 321 + | 1A simplification
) 1A t val L1 009 + 2 407) _
Maximum = 46,1 thousand | duizend 1A it including zeros
OR/OF OROF 2
523 D
Mamimum = 45 100 ¢ ¥ ET 2RT comect maximmm Questionnaire | veaelys 4, L1l
— ) OR/OF
5 AOQ D
1BT comect values L2
+RT 1M multiply by 100 Survey / opRame 4
2 158 000 000 100% s i
A= w t oM 1CA SLE]?]]E.EE.M OR/OF
3 441 000 000 000 1 1R rounding
f E-E:“]'F:fi??i “CA If cmitted zeras = Population census / populasie sensus A
=0,06% v -
max 3 marks 2A CoTTect answer
OR/OF
[C)]
52 D Document analysis | dokument analize v+ A
A person who is able and willing to work, but cannot find L1
work 1A explanation OR/OF
‘n Perzoon wat geskik en gewillig iz om fe werk, maar nie
nwerk By nie. < A Interview / onderhoud A
OROF
[#]
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Solution Oplossing

Explanation Ferduideliking

Percantaze of people | Parsentasie mense

BT
1412 000 . 100
4507000 1

=31320% ~CA

2, M

1BT using both comect values
IM percentage calculation
1CA simplification

If omitted zaros

Selution' @plessing

| Explanation Ferduideliking | T&L

Do not mark this question.

Moenie hierdie vraag merk nie.

L
ja
L

| s

2
L
=

AD P
2A pumetator L3

= Full marks 0.sa 1A denominator
NFR 1 1CA simplification
3) == +CA
525 D * 4
BT IET both commect values L2 iF
v o . 5
16 172 000 : 5 852 OO0 14 ratio in unit form IDI__.LL:IHJ
2749401 Accapr
2,740 /275727
(2
5.2 AOQ P

v ET
657 000

1893 000 vRT
=0368 ¥ CA

Probability (NEA) =

OFOF

v RT

697 000
15475000 BT

=0,045+CA

Probability (NEA) =

AFRIKAANS VRAESTEL

+RT
1196 D00

1893000 «RT
=063 “CA
= 0.6

Probability (NEA) =

OF/0F

* BT
1196 000
22054 000 vRT
=005 “CA
=01

Probability (NEA) =

BT correct valunes

1CA simplification

ORAOF

BT correct valunes
1CA simplification

ORAOF

BT correct valunes
1CA simplification

QF0F

AT comect valnes

1CA simplification

|I_"clmitbed zeros = full marks |

NPR

(3)
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NOV 2019
QUESTION/FRAAG 5 [28 MARKS/PUNTE]
Q/V | Solution/ Oplossing Explanation' Verduideliking | T&L
D
511 | Questiomnaires OF Interviews OFR Survey OR L1
Document analysis OF Eesearch OR Observation
2A means of collecting data
Fraelyz OF Onderkoud OF Meningzpeiling (opname) OF
Dokument analize @F Navorsing OF Obzarvear A
]
D
512 | ® Yard trimmings Werfimoeizels L2
<A 1MA adding all commect
=100% — (3.4% + 11, 2% +49.7% + 3 3% +9,0%) values
=100% — 76,6% M 1M subtracting from 100%
=234% +CA 1CA simplification
AO
[E)]
D
513 | % Textiles Teksmele L1
=112% — ({1,6% + 2. 3% +2 0% + 1,7%) 1MA subtracting from
=112% — 3,5% M4 11.2%
=21 «CA 1CA smphification
AOD
(23]
D
514 | Tons of plastic/Ton plastiek L2
ET i4 1ET t total
5 COITEC
91 160 Dﬂﬂxﬁ < M4 1MA multiply by 3.4%
=3 099 440 tonsiton v CA 1CA smplification
OR/OF OR/OF
BT 4, IRT corect total
oL16x= 150 “MA 1MA mulsiply by 3,4%
= 3,00044 million tons/ton +CA 1CA simplification
NFR
3
D
5.15 | Cans, pieces of a motor vehicles, honsshold appliances; L1
scrap metal OR any other produoct that includes mel /
2A metal products that are
Biikke, dele van 'n motorfiets, gitalmeraal OF enige ander recyclable
produk wat metaal bevat. « v A
]

QIF | Selution/Oplassing Explanation'Verdnideliking | T&L
D
5.1.6 | Stacked bar graph OR Compound bar graph OF. Bar graph L1
2A type of graph
Saampestelde staqf grafiek OF Stapelbalk grafiek OF
Staqf grafiek s
@
P
5.1.7 | Probability/ Waarskyniikheid L2
Orther'dmder = 11.1%
BT ~MA 1ET correct values
1,7% + 1,6% +2,3% +2 0% =85% 1MA adding all values
8.3
Tz M 1M dividing
- EII:TSEDEES SEA 1CA simpliSication
ORAOF OR/OF
CA from Question 5.1.2
A E%T 1ET correct values
1— —. A 1A for the oumber one
112 1MA subtracting
=0,7589285 vCA 1CA simpliScation
NFE
A
D
5.21 10 «+A 24 commect number L1
[#4]
D
522 | Number of seats/rarels L1
A 1A comect values
33:27 M 1M ratio in correct order
=11:9 +CA 1CA smphlified ratio
Accept unit ratio
of fractional form
[E)]
D
5.2.3 | National Freedom Party / NFP L1
Nasionale Vryheidsparty NFPNEP ~ v BT 2RT reading from table
]
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Q'V | Solution Oplossing |Erpla1aﬁnn-‘7’erdu:‘dsﬁhng T&L
524 D
60 L
55
50
45
40
%35 13
e
]
= 30 4 -
E -
=]
= 15 4
- A
20
20 A
v A
15 A 3
WA
10 A -
. &
5 -
1 1 0 1 0 B I I | o I
o - N |- | NN LN
EIZ|IE|EIZIB|IE|IB|IB|EIEB|IEB|EIZ|BE|IEIR|NE
Blu sl ag|lal|l v el =B 2| 2222
Eﬁ.l_gﬂ."' ElF| 2| 2F EL!"EEI—
& & En 2 o &
African |Democratic | Economic Inkatha Mational United
National Allisnce Freedom | Freedom Freedom |Democratic
Congress Fighters Party Party Movement
FOLITICAL PARTIES
3A bars comectly dramm [E)]
[29]
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